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Which of the following are tr@,@;‘about Grant-in-Aid?

o DLl )
1.  The grantee shall execute}giﬁgnd before release
of grant to Quasi Govt. Insﬁmtion

SiET

2.  Government aided bod,», s),shall provide two

sureties to the Governogibefore release of grant.
W

3. Complete grant sanétloned shall be paid to
institution in one go e

4.  The stamp duty payable on bond shall be bome
by the Govt. -

5. The grant sanctioning authority shall see the
financial position of the grantee.

Choose the most appropriate answer from the options

given below : o
(A) land2 (B) 2and3
(C) 3and5 (O 4and 5

(E) Question not attemptecl.

TR aﬁmasm%ﬁﬁwﬁﬁgaﬁ%eﬁﬂ%asw
TaE?

1 mmmﬁmaﬁaﬂ%%uﬁ ‘

STRTRITE) ) &S (Bond) (srer—u=r) o1 foroarest et
Bl

2. I T P BT & TR W qerdan aw
Wﬁwﬁaﬁaqﬁ%{ﬁfﬁmwml

3. z—aﬁgagéq;ﬁagmvﬁrmwmﬁ@gﬁ

YA BT AR

4. ¥g- W(ﬁ)whmwwmaﬁ
fopa s anfew

'S, o B R 3 At Wi B Srga

T/ SR mﬁaﬁﬁ?ﬁﬁﬁmﬁrﬁmﬁﬁﬂm_

el
%mwﬁmﬁawﬁgﬁmmmaﬁm
(A) 12 *(‘szeﬂm
© 3dns (Dﬁjlms
(B) orgaia e . "
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Match List I with List I1.

List I List If

a. FIFO 1. Closing stock is valued
at earliest purchase.

b. LIFO II. Takes into account

quantity and price to
calculate value.

e Simple Average - III. Closing stock is valued

¢ - +-method at the latest purchase.
d. Weighted - IV. Useful when Goods are
Average method mixed up together.
Y 1% T g 111 B s |
T TR
a. UHOME TSN I i wiw @ T SN
(FIFO) e T Rrepen o 31

b, UW WS UH S [L IR @I IO &g e /

(LIFO) A T B

o wrERe o TIL SR Wi o e S

 fafr Tr{g o Freprern s ¥ 1

4 wRwetem IV, el v P g
Tty B ¥ a9 gz eIt BT * )

Choose the correct answer from the options given

" below:

- I g T et & | w8 I @1 AT BINT

(A) a-1, b-IL, ¢-IIL, d-IV (B) a-I1, b-11, c-1V, d-I
(C) a-ll, b-l, c-IV, d-II (D) a-1V, b-1, c-1I, d-IIT .
(E) Question not attempted / Glil’r‘!ﬁa T

When a company retains a part of undistributed profit
in the form of free reserve and utilises the sarhe for
further expansion, it is known as -

(A) Public deposit

('B) 'K Ploughing back of profits

(C) Secret reserve

(D) Capital reserve .

(E) Question not attempted

T BYS HUAT e it & vy A aﬁ%mﬁa A F
Te T oY YRR T A i gerenr i fere @
UL B §, AN TS FAT HEAA & ¢

(A) WS SET (B) W @ g
(C) T AP (D) gSir sTfera
(B) eTana 9ed

[PT.O.

Which of'the following is correct for non-current assets?
(A) Not involved in entity’s operating cycle.

(B) Realised or settled within 12 months.

(C) Held primarily for trading.

(D) Cash and eash equivalents,

(E) Question pot attempted

- afcEuREl %G9 § B W saT q@ ¥ 7
(A) T% SoTE % e = A smitrer 7 B ¥

(B) El'ﬁ@ﬁ"ﬁff wwﬁmﬁ 12%%%@%’!%:

Re-appropriation refers to -

(A) rechecking and reconciliation of accounts

(B) transfer of funds from one account to another
account 7%

(C) transfer of funds from one unit of appropriation
to another unit

(D) transfer of one head from one scheme to another

scheme.
(E) Question
Rped dafa ¥ ?

t attempted

N RIEIRBIEE]
(A) T (@) @ iter et forer

(B) W @ & gE wrar ¥ i (funds) &1 geaiaon

(C) TP @1 u giE & qadl g & Fafy
TR

(D) e T T, e AT ¥ gEd v ¥ wwiaer]

(E) aﬂﬁﬁ’auﬁ

Which of the f@tlowmg receipts must be stamped?

1. T10,000 pald to a Govt. servant for departmental
purchases,..

2. Net amount”payable on a bill is ¥ 5,100.

3. Gross amount payable on bill is T 4,500 but net
payable is ¥4,500.

4. Cheque drawn by Public Works Department
amounting to ¥ 15,000.

Choose the mom appropnate answer from the options

given below :

(A) land?2 only (B) 3 only

(C) 2and 4 only (D) 2only

(E) Question riot attempted .

frafafad & & few Rt T e R W

CICEUCIE A

1. sXar Qo @ fawrig wie % fag T 10,000

T BT 4T
2. fa@ o3 37 Fraw wi 2 5,100 g9 W
3. fq@ wX 37 waa TRTT 4,500, ARG ot 3g Tl
4,500 B WX
4. sﬁmﬁvﬁﬁﬁmm? 15,000 &Y W1 & A% &

Y SR I BTG B
(A) ¥ew 1 32 (B) ®a@ 3

(C) e 2 afiv4 (D) e 2

(B) STaa ueH

> ZZTERAI]

- Chose the most appropriate answk

The cashier or any person authorised to receive and
handle Govt. money will be responsible in respect of :
1. maintenance of Bill Transit Register.

2. to carry money to or bring money from treasury.

3. toissue cheques for advances.to be given to
Govt. servants.

4. recovery of unspent balanc
advances given to Govt. se rvants for office
expenses.

5. tocheck the cash w1th reference:to closing balance
of cash book at the end of the month.

Choose the most appropriate answer from the options

given below :
(A) 1,2and 3 (B) 1,2and 4
(C) 2,3and 4 (D) 2,4and5

(E) Question not attempted

STy st s o =, W R ERT SRR @

TR T S T A %aasmgﬁaw% % fre

% dod ¥ TEErl o

1. WWWWWL

2. TS § G B O AT AL Y 9T B A

3. W A A & Y Al o S 3 3
W HET

4. LT YaH! B HrRATET G F T gEW AW
eI 3 g 3 & sreafira wrerIfi & S

5. 918 % o ¥ VNps—a8) (%sTga)ﬁaaas‘mé;wﬁ
o Y &Y Wi

W i o feeedt ¥ @ wel

T

(A) 1,283

(©) 2,384

(B) ergafa uew

Which of the following is not considéred to be recorded
in cash basis of accounting?
1. Cash sale of goods

2. Credit sale of goods

3. Collection from debtors
4. Payment to creditors

5. Outstanding rent

from the options
given below :

(A) 1and2only
(C) 2andS5 only

(B) 2,3 and 4 only
D) 4 Emd S only
(E) Question not attempted

&S My a@ies, fr § 9, e aftreET T
ﬁwwﬁ‘rm?

1. aegell B T R 2. awgel @ S e
3. e (wel) @ T 4. éﬂar{’rzﬁrgﬂam
5. wera (ere) fepxran , ,
ﬁhwm@ﬁ%wﬁmwmwm:

(A) ¥aw1ai2” (B) e 2,3 afT 4
(C) FaT2MT5 (D) Faw 43T s
(E) oraia use \

[PT.O.
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are shares which are not only entitled to a
fixed preferential dividend, but also to a share in the
surplus profit along with equity shareholders.

(A) Cumulative Preference Shares

(B) Convertible Preference Shares

(C) Participating Preference Shares

(D) Non-Participating Preference Shares

(E) Question not attempted ,

q g ¥ o 6 =1 et ey s wmeisn
% fog siftrpa €19 ¥ sfve sferdt Smamat ¥ any
g ALy |1 % W%@ﬁ?a&@asﬁ%l
(A) delt i S
(B) uftacirr siftmm Sra
(©) srafirewrl sifmm X
(D) TR—srafdrewrl siftmm g

(E) orgafa us

Procedure of land acquisition for which, land

acquisition collectors or other civil officer, not specially

employed for land acquisition is -

1. Prepare a statement in Form A or B or in Both.

2. Ascertain that an award has been made by the civil
court.

3. Take a receipt in Form ‘C’ from each person to
whom payment is to be made.

4. Forward a copy of Form ‘A’ or ‘B’ to the
Accountant General.

5.  The Treasury Officer makes the payment on
authority of the collector.

Choose the most appropriate answer from the options

given below :

A) 1,2,4,3,5 B) 2 3

© 1,4,2,3,5 D) 2,1,4,5,

(E) Question not attempted

T P arfrreer s srerE fafew st o ffdre

w9 ¥ q-aftrreer % fag Frgea @ feg o ¥, %

forg qftr arfrmreor & wftean & - v

1. W T arar St steyen Sl § forereor du o)

2. mgﬁﬂmﬁ%ﬁﬁawmmm
™)

3. Rt oft Tl T Y ST R, S 9 wede e
¥ wE WA W |

4, B T aryEr &Y ﬁ@ﬁmﬁﬁr&a

H
5. HAFEY b YIIHIT T I A BT
e g g fepeat & @ Y SR 1 w9 B
(A) 1,2,4,3,5 - (B)'2,1,4,3,5
©) 1,4,2,3,5 (D) 2.1.4.5.3
(B) srgar usa

> 22TERA1] |
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Government servants exempted. fiom production of

medical certificate are - A

1. A retired government servant, re-employed after
retirement.

2. A government servant in a class-IV service,
appointed against a temporary vacancy not
exceedmg six month’s duration.

3. A person is re-employed after resignation from
his past services.

4. A temporary govt. servant who has already been
medically examined in one Qfﬁcg, is transferred
to another office without a break in service.

Choose the most appropriate answer from the options

given below:

(A) 1and?2 only B) 2 and 3 only

(C) 2 and 4 only (D) 3and4 only -

(E) Question not attempted

el dae f fafemea s regfa A e it -

1. U FgaaRer sHand, dar P asarg g
R ‘

2. I Sl ST % Ueh W hHarly ot srere et
ug ux Frgfert <1t 6 ©: wre @ arfres sraf w20

3. miéémﬁwé%%mgﬂ Frafa
e | '

4. TH SRR QLB ey ﬁﬂw 5 vewt ST o
wrafeg ¥ fafseasra ol £ o et s el dar
YT b T ST B o SR o fpan e
&l

%mmﬁmﬁ%wﬁmwmww

(A) %aw 182 (B) ¥ae 2 &l 3
(C) %aw 23T 4 (D) %ad 3 3T 4
(B) Srgafa ued

‘Which of the following financial sanctions and

orders issued by a Competent Authority shall be -

communicated to the Accountant General?

(A) Sanction related to payments/withdrawls of
General Provident Fund.

(B) Financial sanctions issued on the basis of cabinet

decisions.

(C) Sanctions relating to appointment of government
employees.

(D) Financial sanctions relating to grant of loans and
advances.

(E) Question not attempted

fepdlt wem srfreT{t & STl oy 1 Frefafad o

Fﬁﬁeﬂxaﬁsﬁﬁ%maﬁﬁmﬁ

AT & S Aty ?

A) Wwﬁwﬁr&:(aw;hiﬁ%?w)%w/
el | "t o

(B) wimisa () % Fofal & amem ot sl g

Erel
© awrﬁaﬁaﬁa‘r%rﬁgﬁa%wﬁaawm
(D) %ﬂraﬂ'{aﬁltrwﬁéﬁgﬂaﬁ/mjmﬁwﬁaa

(E) aagaﬁaqsﬂ
[PT.O.

13 Match List I'with List IL
List I List II
a. Three months of I. Two years bond is
study leave to be executed
b. Six months of II. Five years bond is
study leave to be executed
¢. One year of III. One year bond is
study leave to be executed
d. Two years of V. Three years bond is
study leave - to be executed
Bl I%Wim::ﬁ 11 %1 e i |
WL T
a ATAEG GEEA L < et gis (Sar9)
- ST ¢ ¢ e
b. B HTE %1 AT ute ¥t i
ST frreme
c. WA o 1L Th a9 % 97 Frerg
TR o
d. & a¥ &1 sremas IV. dF o afs framg
STABILN
" Choose the correct answer from the options given
below :
e feg T Rt ¥ & W T B T HIT
(A) a-L b1l c-IT, d-IV  (B) a-IIL, b-IV, -1, d-II
(©) eIl b, ¢ IV, d-11 (D) a-1V, b-IL, ¢-111, d-1
(E) Question not attempted / STTTIT WS
14  Match List I with List IT.
List1 ( List 11
a. Errors of - I. Credit sale of goods to Ram
principle not entered in sales Book
b. Errors of II. The net effect of these
omission errors on the debits and
credits of account is nil.
c. Errors of III. Incorrect classification
commission of receipts or expenditure
between capital and revenue
d. Compensating IV. Wrong casting of
errors subsidiary books
A 1% v gAY 11 o1 Brar SHifig )
Lcipl ; T
a. fogimadd® L o < I awgeli
et TuTT R, Rt &
wiafe 7€t @ T
b. g% (g2) FEE 1L AW U 5 O H o
et qfe—uwa s ¥
c. BO-FfAT 1L SN U TS &b qe W
TR @7 TAd iR
d. afoqyes Feai 1V, weras afedt & Tad AT
Choose the correct answer from the options given
below : o
e faw T foeedl ® @ T2 STR @1 TEE BN
(A) aL, b, ¢, d-IV (B). a-Il, b-I1, c-1V, d-1
(€) a-UL b1, c-IV,d-II (D) a-1V, b-1, c-11, d-1I1
(B) Question not attempted / STTRT U7 -
) 22TERA1]
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Which of the following principles shall be kept in view

while sanctioning grants to institutions/organization?

1. Grants shall be made available on the basis of
specific'schemes.

2. Order shallspecify clearly the objective for which
grant is given.

3. Grant-in-aid can’t be sanctioned to prlvate
institutions.

4. Grant-in-aid m‘oney shall be drawn in advance of
requirements. s

Choose the most appropnate answer from the options

given below :
(B) land3

(A) land?2
(C) 2and3 (D) 3and4

(E) Question not attempted ,

£) Question v 33 G R

ﬁ@ﬁm%@ﬁﬁﬁwﬁmaﬁq?
w%&mmﬁ%aﬂwww&w

2. wr&srﬁww@rww%&aaﬁwmﬁqf‘w%

. Tow srgEm T

3. Wmawﬁ@w@%mwﬂﬁaﬁ
Eil :

4. maﬂmﬁtﬁétamm%msmﬁlﬁ

Tt ST
%mwﬁmﬁéﬁéwwmm

C(A) 1302 (B) 13073
(C) 23T3 (D) 38IX4
(B) orgafa us

Income earned but: not received is shown inthe

side of the Financial Statement.

(A) Liability side of Balance Sheet

(B) Asset side of Balance Sheet

(C) Debit side of Profit and Loss Account

(D) Credit side of Profit and Loss approprxatlon

account #
(E uestion not attem te '
ai%ia%% ﬁﬁﬁa ferws -
gyt ST ¥

(A) IT—9 & TTar g&
(B) @9 & qfvgafd gar
(C) v e w1f @ &% A e

(D) @ T B fafEe @ﬁéﬁmw

(E) Taia ued

Identify the term hlghhghted by the following

- statement:

“Obediance to rules and regulation of orgamsatlon

(A) Unity of command

(B) Unity of direction

(C) Subordination of Individual interest to general
Interest

(D) Discipline

(E) Question not attempted
T HUT B ST BT TS ST Bl Igar

EAisi
W%ﬁw@%’%ﬁvmﬁmml
(A) TR} THar

(B) T &1 wmar
(© W%ﬁﬁg@ﬂﬁ%ﬁﬂm%ﬁaﬁw
(D) s

(E) srgafa uew

[PT.O.
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From 1965 onwards, what 1n1fiatiife the Government
of India has taken to stabilize pﬂces of major food

grains and to supply of Food graifis at subsidized rate

to lower income group?

(A) Buffer flow By Buﬁ’er stocks
© Marﬁ%é‘able surplus (D) Buffer discount
(E) Que@tmn not attempte
S T et ) R e T g e
Fret o1 Gige 1 o o (AR Ye) R arEr
Gl a@%ﬁ%%@ WW&& 1965 | AR 41
A BTG e

(&) gr%mw (B) ngéﬁ T
© faoodm sfusie (D) g‘(‘féﬁrzgc'

(®) SraRE e

Which oxgeg;of the following statements is true?

(A) A gaéyernment servant may, surrender privilege
leavegynot exceeding 20 days in a block of two
yearﬁ*{or encashment.

(B) A gevgrnment servant on compulsory retirement
shal}ége paid cash equivalent to leave salary for
privilege leave at his/her credit.

(C) Cash payment for un-utilised privilege leave shall
be caleulated as cash payment {(pay admissible

on retigement + dearness allowance)/30) x number

of ugutilised privilege leave at credit on retirement
sub}eﬁi to 300 days.

(D) A gégernment servant shall earn privilege leave
at the'gate of 2/ days for each completed month
of hg&gerv1ce as RAC personal.

(E) Que:S@im not attempted

Frafafaa ¥ ¢ ST-wHTm A ¥ 7

(A wE B wHard & a¥ % e ¥ g i,
g 20 TS @1 faeraiiie g8 e a5
Eﬁ@“‘%! .

(B) eﬁ‘éﬂ‘a‘ Far-frgha ut wweaTa 'cb'tf%rrﬁ %
ﬁ—:rs‘r&?ﬁhwz STBIN TGN A STABIY AT B
WWW A femar S

©) ma&ﬁﬁqﬁmﬂ@%@mmﬁ%mm~
((@r«rﬁ%qﬁi' I T A + TEE W) /30)

300 Relf & -
@) qm:aﬁr&mﬁarﬁmcaﬁma%wﬁm
R R

RrsronfiraTe gt S |
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21.

Match List I with List I1. b

List I (Alternative List IT (State)
Marketing)

a. Apni Mandi I. Maharashtra

b. Hadaspar Mandi II. Tamil Nadu

¢. Rythu Bazar IIl. Rajasthan

d. Uzhavar Sandies IV. Telangana

TN 1% g g U B | :

T 1 (rFfers Tmm) T (T59)

a. O HUST I weRrg

b. EGEUT HULY 11, g

c. @Y I 1. TSR

d. s Fvd IV. e

Choose the correct answer from the options given

below:

(A) a-III b-1V, c-l, d'

(©) aIL b-l, -1V, d-IL.

The payment for unutilised privilege leave on

retirement, includes crediting -

1. Cash equivalent toileave salary in respect of the
period of unutilised privilege leave not exceeding
300 days.

2. Cash equivalent to-{eave salary including the
dearness allowanoee in force on the date of
retirement.

3. Cash equivalent tp.leave salary including city
compensatory allo nce payable on leave salary.

4. Cash equivalent to Jeave salary including House
Rent Allowance payable in salary.

Choose the most apprépﬁate answer from the options

given below : 5

(A) 1only (B) 2and3 only

(C) 1and?2 only (D) 2 and 4 only

(E) Question not attempted

m%%mmﬁmn@ﬁm

¥ qnite i

1. O @ ¥ g RisronfeTe R @ ey, S
1% 300 R & aifui Y BN, & SO e g
A B P

2. Wﬁmﬁmwﬁwmgﬁ
AT % T BT TR

3. g@%éﬁ%maﬁawuﬁmuﬁm@
AT % TAGET FTBE TR

4.<WWWW§§!W%W§WW
afdnt

BT :

(A) daw1 (B) ¥ae 283
(C) ¥aw 13iX2 (D) ¥aw 2 34
(B) ST U »

[PT.O.
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24

‘a. Openmarket 1.

Match List I with List IL.

ListI List 1T

Rate at which money is

withdrawn

Rate at which loan is

given to Commercial Bank

c. Reverse Repo IIl. Buying and selling of bonds
Bank rate IV. Rate at which money is lent

qz?r Ia?(ﬂ?lﬂ;iﬁ T o1 Tt ity

’ T -
& b fapTe @Y aT
arivraes ¥ @t i s
c. Wit II. S8 % Tdiear qor Ja
d. ¥H IV. o7 %I SUX 39 &l 3T
Choose the correct answer from the options given
below: ) )
e feg g ferenedl & & TEI AT 1 TG BT
(A) a-l, bl ¢-IV, d-IIl (B) a-IIL, b-1V, c-I, d-II
(©) a1V, b-II, c-1IL, &-I (D) a-I, b-IIL, ¢-1I, d-IV
(E) Question not attempted / STTANT UL

operation
b. Reporate - 1L

‘Forward purchases’ means:

(A) Purche{sés made in the beginning of the year.

(B) Purchases made at the end of the year.

(C) Purchases to be made on a future date at a
predetermined price.

(D) Purchases made during the year

(E) Question not attempted

‘STl WEER (39) | Sy ¥ -

(A) a9 % 9w ¥ &1 T @lg|

B) a9 % I ® & T wiig)

©) ﬁﬁﬁﬁawwuﬁ%ﬁﬁﬁaﬁmﬁw
(D) a9 & ST B TS @)

(B) Srafd us

What is the primary unit of appropriation for the
purpose of the demands for grants of the Government?
(A) Major Head (B) Minor Head

(C) Detailed Head (D) Budget Head

(E) Question not attempted

QRBIY STFETHT bl Wi % Wi & fafrirer ot wrerfe
THTS T HEATA & 7 '

(A) eI i / A5 &8

(B) Ty off / AER ¥

" (©) foga oind / oo &

(D) T2 Y / 5o ¥
(B) orafea usq

- 22TERA1 ]
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Which of the following loss needs to be reported to the
Accountant General”

(A) Cases, mvolvmg losses not exceedmg T2 OOO
each.

(B) Refunds allowed on the ground that the claim were
" time-barred.

(C) Mistakes in assessment, discovered too late to
permit a supplementary claim. .

(D) Loss by misappropriation, and such loss has been
made good.by the party responsible for it.

E) Questidn not attempted
Frrfofaa % @ fpg w1 % T A wemETdR # giua
H B SATALTHAT § ?

L (A) Q%mmqﬁﬁiﬂﬁ?zoooﬁma%aﬁ

. aftafd T8 ¥

(B) 39 Y 9T ARG (&9 I9E), A % T -
T o

©) Wa&ﬁw&réﬁ%gwﬁwﬁmag&
forerey & e =l ,

(D) R & g afy ot 3o st &1 il 5%
o1 Sy et BT @ T ¥

(B) sraf@usT

Which of the following are economic events ?

Sale of merchandise to customers.
Commitment of employees. ’
Winning National award for quality production.
Payment of monthly rent.

. Outstanding salary payable to employees.

Choose the most appropriate answer from the options
given below :

(A) 1,2 and 3 only (B) 2,3 and 4 only
(C) 3,4and 5 only (D) 1,4 and 5 only
& Question not attempted

N

vﬁwﬁﬁaﬁwm(ﬁw}ﬁ?@r%?

1. € (AT BT TTeH! Bl ST

2. wHEIEl Bl

3. W@W%@ﬂ@awﬂeﬁw
4. IR W1 YA BT

5. HHATET B ST AT 3

%mmﬁmﬁﬁ%mﬁmﬁwmw
HITT:

() %m?ruaﬁm (B) e 2, 3 8l 4
(©) %AW 3,485 (D) Faw 1,415
(E) oTgafd ueT
[ PT.O.
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) 22TERA1]

(B) oraia usH

{(C) 3only

Which of the following is NOT true about maternity

leave?

(A) Maternity leave is also admissible to temporary
_fernale Govt. servants.

(B) Female Govt. servant rﬁay be granted maternity
leave on third pregxlaéne@ if there is no surviving
child. £

(C) Maternity leave shall'b _;recorded in service book
and debited to leave ageount.

(D) Maternity leave may ge §ranted to a female Govt
servant in case of mls@@mage

(E) Question not attempte;d

Trfir— g@%aﬁﬁﬁmﬁrﬁ%ﬁwwmma@a@%?

(A) Tgfi-gEr sreerdl Tl Aieen Yo % frg &
e 1 el

(B) el mfser wreTer A Y Sl A TR Ll
HI[X T ST Ghal & TR THBT BIg SHfere et 7E
e

@ngéaﬁﬁagawﬁmw%:

(D) - e o gty e S s

o1 Rafq o off wisx foat s wear )

ol
-

Contmgent Assets mclude’tig; following,
Uncalled share caplt%i)»qf the company.
Legal suit for recoveggv@f debt.
Insurance claim. )
Unpaid arrears of dividend on the Cumulative
Preference Share of the ’
5. Option to apply for hare in other company on
favorable terms. 4
Choose the most approprlate answer from the options
given below:

(A) 1 and 2 only

hal e

«B) 2and 5 only
- D) 4 only
(E) Question not attempted.

e afveafaal  FreafuRad anf 33
maﬁﬁmwﬁgéa@qﬁn

T T AT & 375 T |
Wsﬁwwm% sﬁ*{%maﬁaﬂm
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30

31

~ 'Which of the following is earned by an emp
“duty in foreign service for a specific peirod? |

. (E) Question not attempted

Match List I with List II.
List1 ' List 1T
a. Preparation of bills = I. Accountant
b. Final authentication II. Auditor
of bills :
c. Passing of bills . DDO

d. Examination of bills"  IV. Treasury Officer/
o ’ Asst. Treasury,

officers
AT 1% | gl 1 ot e Aifa )
T T ,
a. faell & dOw wEn I ‘@1@1’:}3!‘{( > )
b. Tl @t siftm : ‘
- GHTIIB T
c. foat = wifa &0
d. foaf @ stra

below:
et forg T et ¥ & T T a?r?&'%

(A) a-L, belL -1V, d-I1 (B) a-III, b-1I, c-IV, d-I
(C) allL b-IV, ¢-I, d-1 (D) a-IIL, b-IV, -1,
(B) Question not attempted / STFART U$T

(A) Salary (B) HRA
(C) Gratuity (D) Leave
(E) Question not attempted
Frfaiaa 5 & us HHard & g 0 BWW%FQT
T -, m%@ﬁﬁmm%mﬁ&aﬁmﬁ
FETA S ?

(A) g

(B) @raTe ferEn s (T & ‘;‘)
(C) ufEm™

®) B

(B) Qi uss

is not a barrier to communication.
(A) Technical language (B) Simplicity
(C) Inattention (D) Filtering

U9 A Sre e B
(A) T@HAID! T (B) gXwar
(C) = =& A (D) Fredet (ReweftT)

(B) Taid us+

32

33

34

35

- Imprest system is used in :

(A) Single column Cash Book:

.(B) Double column Cash Book

(C) Petty Cash Book
(D) Triple column Cash Book
(E) Question not attempted

ﬁﬁﬁ(wm)qa%mm%eﬁﬁmm%?

{E) Wﬁ%‘é’@‘ﬁ

(B) aﬁfrﬁ(asrs:f .

(€) Transient poor
) Occasionally poor
) Question not attempted

“wwﬁﬁ@m%%/waﬁw

ollateral voucher is produced in support of
. business transaction.

(A) Subsidiary Voucher (B) Original Voucher
(C) Source Agreements (D) Credit Note

) Question not attempted

%, o i aeeA &

“Weakness letter’ is concerned with evaluation of:
(A) Internal Audit (B) External Audit
(D) Internal.Check
,,,,(g‘,) Question not attempted

- 22TERA1]

o Frefeiaa ® § fras qraieT @ @efua ¥ ?

36

37.

- ®?

Arrange the steps of communication process in correct

. sequence :-
1.  Sender:. L 2. Feedback
3. Receiver—de;; ng = 4. Message |
5.  Encoding - ;

Choose the corre¢ ?nswer from the options given
below :
A) 1,4,5,3,2 ®B) 2,3,4,5,1
©) 3,4,5,1,2 D) 4,5,1,2,3
(E) Question not attempted '

TR UithaT ® S ATl TN T el STgHH § -
3. e - R 4, e
5. witsa B '

M R o freedl § @ 9 ST B A9 BN
(A) 1,4,5,3,2 |B) 2,3,4,5,1
(©) 3,4,5,1,2 (D) 4,5,1,2,3

(B) oraia 9

Which of the following are duties of Head of the Office?

1. Tosignas Dram?g and Disbursing officer, all bills
to be presentefsuo the treasury.

2. To mamtam r@g@ter of Advance and Adjustments.

3. To ensure thaiml appointments are done during
that year.

4. To exercise all-the admmlstratlve powers
delegated to .

Choose the most appgopnate ‘answer from the options

given below :

(A) land2 (B) land3

(C) 2and4 ¥ (D) 2and3

(E) Question not ?ti‘-%mpted

frffaa & § B & watad 79@ (HOD) % &

1. IR § e e St e wel Rielt o sme
T g % wY H SEIE BT

2. i ofR T ST IR o - TE |

3. Aghifyaa wo i wa ad % S S e Frgirat
& T ¥ i

4. Rrrmeme % yag @ R siRE e T
HIAT

ﬁ%%qmﬁwg [ B Wwﬁmﬂﬁ%{qz

(A) 182 (B) 143
- (C) 28R4 ¢ (D) 283
(BE) oTgand ued

[PT.O.
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Match List I with List II.

List I List II
a. Compliance 1. Reviews the efficiency of

Audit all operations to give

strategic solutions.

b. Management  II. Entails audit in depth into
Audit irregularities on reported
allegation,
c. Financial III. Reviews adherence to -
Audit Law, regulation etc.
d. Investigation IV. Verifies that there are
Audit sufficient controls over
cash, cash like assets, and
control over acquisition
and use of assets.
q\é’r 1% wrer gl 1 &1 free aﬁ%rq |
T whn o
eﬂgqm I e Save e
zﬁ@ e T AT B HRGTAA
%1 TG Bl S § |
b. yEEm e 1L whwERa R feg go)
e ST S arfrafrare
T & § AT
(erafier) war-udan
c. fdmwEr 1L W (Rfy) Rt ganfy
aarer © % I Sl THIE B S §)
d wEemEr IV, 9% I s ¥ R T,
LR Fepal et uf el 9% ate
frgstor o aifwrsor o
greEafaal & e uT frase g |

Choose the correct answer from the options given
below:

e g 1o frepeat F A w9 @ T B
(A) a-L b-I1, c-1IL, d-IV (B) a-III, b-11, ¢c-I, d-IV
(C) a-ll, b-1V, ¢-1, d-II (D) a-lI, b-1, c-IV, d-I1
(E) Question not attempted / ?ﬂ’jﬁﬁ'ﬂ LES

Subsistence Grant are made to government employees ;

who are -
(A) specially doing arduous duties.
(B) not entitled to pay or leave salary.

(C) suffering loss of substantive pay in respect of a"

permanent post due to revision of pay.

(D) performing the duties of a post on which another
person holds a lien.

(E) Question not attempted -

?ﬁa&mmmﬁﬁmﬁmﬁwmﬁﬁ%
A) férfégzw%(a;%ﬂ) T T () W i
(B) ¥aw oK gfi—<a uH & Thar w18 B ¥
(C) AH—grrrerT & breet Tl ag % s & 7w ug
AT BT T IoT T B ¢ | ‘
(D) fepeh U& v & BRI B Frdew s @ ¥ B
aﬁémwﬁﬂwﬁhﬁﬂm%l

(B) erana usd

) 22TERAL1]
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‘Which of the following department $ibmits a statement

annually, showing the remission of revenue and
abandonment to the Finance Department?

(A) State Excise department

(B) Irrigation department

(C) Transport department -

(D) Education department

(E) Question not attempted

,ﬁwﬁﬁ'ﬁﬁ@fﬁwmﬁrﬁmﬁﬁw&w<
'W/@@@TW@W&%&W«WW@

e fereoll ¥ wga BT ¥ 7
(A) TS FEH (ST Fh) i%g%gm
B) Rurg fawm N
(C) uftees fammn -
(D) e frwm
(E) eraia usT’
Match List I with List I1.
List 1 ListIT
(Name of the city) " (Colour of the city)
a. Jaipur L. Blue
. b.  Jodhpur 1. Pink
‘c. Jhalawar III. White
d. Udaipur - IV. Purple
gl 1% qrer g 11 &1 fras S ,
TR I (978X 1 W) M 1 (e )
a. WYY L A
b. SEYT I s
¢ wEERE 0. a%q
d. I Iv. S

Choose the correct answer from the options given
below:

A9 g g foehedt # @ | I B0 T BHIT
(A) a-l, b-l, ¢-IV, d-III  (B) a-III, b-1V, c-I, d-II
(©) a1V, b-IIl, c-1I, d-I (D) a-I, b-I1, c-IIL, d-IV
(E) Question not attempted / m@’ﬁﬁ?{ EEL

A firm has taken Insurance Policy on the Stock for

¥ 3,00,000. The stock lying in the Godown on the date i

of fire is ¥ 4,50,000. The value of Stock lost in fire is

?’ 1,80,000. The amount of Insurance claim admissible

is -

Wﬁ/am-vﬁ%rﬁooooo%mwaﬁmﬁﬁa@rﬁ
Tl %1 sAftets @ fafyr ox Tiem (HeR) ® @ 3g
Wi &1 < 4,50,000 ¥ 1 1161 & HIROT BT T

(ST TY) T BT A T 1,80,000 F | by T & v

1 STl Webrd T ?

(A) 3,00,000 (B) 1,20,000

(C©) %4,50,000 (D) 1,80,000

(E) Question not attempted / ST U

' [PT.O.
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- (E) Question not att

(A) Presumptive Paf‘gf

- (C) HX-IgE

Match List.I with List II.
ListT List 1T

a. Declaration of Head of office I.  Rule-11
b. Control of expen@t;ﬁre II. Rule-4
¢. Report of losses III. Rule-3

d. Removal of doub IV. Rule-20

T

L Prw-11
1. Frm-4
. -3
Iv. fem-20

(A) a-IlL, b-l, c-1V, d-]
(C) a-IL, b-IIL c-l, d

(B) a-IIL b-I, c-1V, d-II
(D) a-IIL, b-I1, c-I, d-IV

Additional pay granted to a Govt. servant to save him
from a loss of substantive pay due to revision of pay
otherwise, than as a di$¢iplinary measure is known as :
. (B) Substantive Pay

(C) Special Pay (D) Personal Pay

(E) Question not atfwﬁpted
SR SUTa 3% 9 % sfifE da % grie %
BT RIS I Bl é?% Y fopelt Tl Y @Bt s
%gﬁéaaaﬁa%ﬁﬁ’a’ﬁwwﬁmm%—
(A) vHREa @ (B) TS S|

(C) fasiw Iaw (D) =afRrTa e

(E) srafw usd

Who chairs the Gocig@% and Services Tax Council of
India?
(A) Finance Minist@r
(B) Governor of R tve Bank of India
(C) Tax Comnnssxof !

(D) State Finance minister by Rotation
(E) Question not attempted

Wﬁa@@%mmmaﬁmmﬁam%?
(A) fasht

(D) =
(B) orgaia ued

) 22TERA1]
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Match List I with List IL

List I ListIT
a. Primary, sector 1. No prefit motive
b. Secondary sector 1L Foresi@;y

1II. Computer assembly

c. Tertlary sector
V. Traveldgent

d. NGO sector, .

Fgﬁl%mﬁ@ﬂzﬂﬁﬁmaﬁﬁi@

T L

a W@ Es L i 1 35 T
. ErEEisil

b. fadras &= I et

c. s & 1. HEgeX enem

d. TR-wwerirds V. amn g (st

Choose the corréct answer from ‘atﬁé options given
below:

e g g fmedl & € @Rl 9T ‘c@m HieTg:

(A) a1, b-I1, c-IIL d-IV  (B) a-Ih:b-lL, ¢-1V, d-1
(C) a-lIL b-IV, ¢, d-11 (D) a-IVb-II, c-II, d-I
(E) Question not attempted /

An apex co-operative organization @tigxe national level,
which deals with procurement, distribution, export and
import of selected agricultural commodities in India

. is:

(A) NABARD (B) NeBC
(C) NAFED (D) EEC,
(E) Question not attempted .
T & T i e (av) 9
T o SEE B @ B bR
e gEeHT WIS B W 7

(A) wEE

(C) T QUHF SN

(B) oraia ued

Arrange the steps involved in usage of Bill of exchange
in proper sequence.

1. Acceptance of Bill of excha;
2. Endorsement of Bill of excha
3. Drawing of Bill of exchange'

4. Presentation on due date of &QQ of exchange

5.  Settlement/Payment of Bill dffgxchange

Choose the correct answer from options given
below : ‘
(A) 1,2,3,4,5
©) 3,1,2,4,5°

®) 2,
(D) 4,5y1,2,3

(E) Question not attempted

ferforerer—osy % SueeT ¥ o wICel o wE aTge @
2. P & g (TREA)

3. fafvem—os &t e/

4, %ﬁm—q@g zg?f aafafy uT u@a H

5. fafere—o )




49 g;‘:clh List I with LiStLIiIS‘t il aleds 51 ‘Unique selling proposition’ refers to : 53 Subscription yet NOT received for the current | 55 IFRS has no role to play in - ‘
a Product I Assess I;ii:ient of (A) Unusual product benefit year is - o ‘ ' (A) Avoiding manipulation in accounts .
- feasibility management expertise,  (B) Induce fear.in customer’s mind 1. Deducted from subscription A/c in Income and (B) Maximising profits
5 Market I X;g;]rcfiz suffgche]ncy ete (€) Use humour fo attract consumer Expenditure account (g) l(jlogal harm(;n};al’ﬂon o acciummg
. feasibili ' e (D) Use provocation in advertising 2. Added to subscription A/c in Income and (D) Facilitating globa investment
easibility business-idea is woxéth ] (E) Ouesti g Expenditure account (E) Question not attempted .
pursumg in terms of over uestion not attempte Em Prafafea & fpad ’{ﬂﬁb’f
o all financial attraction. Fafyre e v Reae @efifa wear 7 3. Shown as Liability in Balance Sheet ? SUARE @, R E
C. (f)rg{ilrjl}lgatlonal 1L ?vet{lail apgeal of market ' 4.  Shown as Asset in Balance Sheet TR BT ? ,
easibility Hor uster proc tt&cgctirégludmg Ay A TG : Choose the most apporpriate answer from the options (A) Tl (eren) 7 ST-6T | e §
d. Financial IV. Asseéssment of overall (B) W& & = ¥ 7 I 65( '[ given below': (B) WHYEAT I Sfehad S
feasibility fﬁﬁgg g;% §§2§“¢t (C) wITEe TN H ¥ TR Bl acrq‘m HE (A) 1and2 only (B) 2and 3 only (C) @i % Afveas aurearfisTor §
deszrablhty and product (D) fersros & SEos / Irom wm Gfﬁn"T B (C) 3 and 4 only (D) 2and 4 only (D) e Frerer bt wee s &
demand. (E) Question not attempted
E) Igara usd (B) ergaied usd
qa“rl%wu@nasrﬁmmaﬁ%w (
waﬁmmﬁm(gﬁ)ﬁw@mﬁwmﬁm ‘
.g.\ﬁm Uq’gaﬂ'a’]’ ;ﬁ 'gagrq ﬁg}w Wa—q—__ 52 What iS the Ol'del’ Of the pr()cedul’e included in the ™ % qdg: ‘ 56 clfthe trial t?alance agree,’ it lmpﬁes that -
il SRR BT T Specific Audit work in respect of trade creditors? 1. 9T U4 =0 @I H SR ([6) @1%( q T e (A) There is no error at all )
b. SR UGl 1L SHEH! FIeerwer ST 5 1. Ensure that goods purchased were actually ST ) ?3; igere may ge two s%ieg error m g}e };OO!;S
S N i < received. ' v L ere may be one sided error in the books
SN % e & s 2. Enquire about the misappropriation if any item 2. omaTd T @ﬁ; WT ﬁﬁ;"m e T & | @) .Th;re ;naykbe one sided error and two sided error
) HT A & e e - of creditors has not been paid for a long time. 3. g Sl H BT H @R ) ST ¥ () gteet' oonsi.: ttempted
c. HISATHS 111, afrenfires e afeq, 3. Obtain schedule of creditor from the client and 4. gE—u= # qiEata % &9 § g9 ST ¢ | ‘q&{a;q;lon © ?ﬁ;n.{;%i) o d e eranife S
ERECRE] WE@IQ( % ﬁﬁ)‘;’ LD SIS check it :vith Purchase Ledger, returns outward, A g T feened o @ HEE SUYHR ST %1 9 BT $ 5 NS ’
SN invoice etc ‘ : '
d. ﬁ?ﬁamgaaar 1V, TS AT T IS (A) e 1 37T 2 (B) e 2 &I 3 T8 ¥ Fred v A g S ®
- 4, Ensure that all purchases rnade during the year (A) : gﬁ '
SIS ;Tm RKEEE ‘have been recorded in the Books. ' (C) % 3 9T 4 (D) %9 2 T 4 (B) @&l # fg-uafra gfe & webell 2
Choose the correct answ from: the 03|p| tlio”nls given 5. Check outstanding dues to the company and (E) argafd T © aﬁff@*‘ﬁﬁq i’]ﬁfa Gl 1
below : compare with schedule of creditors. §4  Match List I with List IL. (D) ¥ uEH—ueig e kel fe—ueim gﬁ: FEHA T
'élﬁ) ﬁ%ﬁﬁ;@ﬁ@ﬁ ii?IH%?BY)ﬁRI? zﬁigfl BT Choose the correct answer from the optlons given List I List 11 (B) eraiid uss
a- c-1, d- a- c-1, d-II bel :
©) a, b- 11, c—IH d-1v (D) a-IL, b-I11, c~IV d-I (z)owl/ 2.3 4.5 B) 2.3.4.5 1 a. Vouching in-depth 1. Backbone of Auditing.
(E) Question not attempted / Hjﬁﬁ‘ﬁ 'EE © 3’ 1’ 4’ 5’ 5 (D) 4’ 5’ 1’ 2’ 3 b. Vouching II. Original Invoices. 57 The Plfmning Commission of India was set up with the
50  The term ‘Past Case’ under Financial powers means- P D) 4,5, 1,2, ¢. Primary Voucher  III. Comprehensive following objective:
(A) a case which has been finalised until the date of (E) Questlon not attempted checking of accounﬁng 1. To establish stable government.
delegation of financial power. =S aer 5 H?{‘if 7 fifyre srar-—uder sl @ ' 2. To discourage foreign investments.
(B) acase which has been finalised and occurred prior  ufmr @ R system. 3. To achieve full employment.
© to the daﬁle ?lf I(lielf:g.':ltlé)n off'_ ﬁnimmal power. B ' d. Teeming and IV. Cashier using money 4' To reduce inequali?iesygtl” in(gome and wealth.
a case which has not been finalised until the dat gﬁﬁg EXGIRC ARG ?R@f ClUSCE:] i i : .
of delegation of financial power but occulrrede pr?o? Lom o Fe Rl q Lading for private purpose. Choose the most appropriate answer from the options
) to that d?ltehh been finalised unti T B E Al 1% a1y g4l 1 &1 fre i) given below:
a case which has not been finalised until the date e et R f A) 1 2 onl B) 3 and4 onl
: Olf decllegauon co(fj fgnanc:lal {:lower but expenditure 2 e ‘G'i%r% 3 =8 ﬁ’f:; a;?ﬁﬁ (e Hlﬁl( - ) T ' §all ;IET & E Cg 5 :Eg 3 gﬁg}' gD; 1 :2 44 ggg
E) ?szait%? rg‘fr aettergp?élda;; ority. ’ I R el TR goE @ ‘T@'gg - ;?T a. & ‘ . .- ?ﬂT o B (%;Aestlon not atter;gted e s :
yiferra % TRa U " (T AT ST b v ‘ SR AT & ST ST &Y T bRl
s ¥ 3. Fadl & o W g (e W w5 b. araRiT IL e Srores | | & ?
(A) Qmmg%ﬂgﬁﬂ?{ﬂﬁ&lﬁﬂﬁ%mﬁaﬁ HU—E, Y AT, o genty & fraw c. urafe arex 11, Wi ggiy & s 1. Rert G & WAt HE)
® qummimquﬁﬂhs‘rwﬁamsﬁﬁ A 4 %Wﬂﬁaﬁaﬁaﬁﬁl?ﬂ%ém‘fﬁww B 9 (sia) | 2. frsh Prsr &t wdienfed el
gt % SreaTaeT ) arirE ¥ Id g 2 T () st BT e e d. SR el AR IV, retear g @ fl 3. ot TorTR ifi |
©) WWWWHQW T 5. m#ram%umaﬁmﬁammaﬁwm Feit & e e ¥ 4. T UE O AT S SRS @ T BT
: a@?ﬁi llm T genre! @ su ariE ¥ g . AT B E”i‘é'a‘ﬂ | g MY ml Choose the correctanswer from the options given below: A frg o frped ¥ @ @9 SugE SR @ 99
(D)qummﬁawﬁ?ﬁa IR % JeaTareT o e R T el & et ST o A A fog T fereredt § & WE ST A A B - PIeTS .
arfr e Pt <& 3{; & e 7o B o (A) 1,2,3,4,5 (B) 2,3,4,5,1 (&) aL bl cIV, d-IL (B) a-I, beIIL, ¢-IV, d-II (A) Fae 1 3T (B) e 3 ST 4
& C) 3,1,4,5,2 ‘
aftreTd g = R argfmﬁn © 3,1,4,5, (D) 4,5,1,2,3 (C) a-II, b-L, ¢-IL, d-IV (D) a-IL, b-IIL, -1V, d-1  * (C) a2 8fX 3 (D) e 1304
(E) orgeied 9 (B) orgaia uss (E) Question not attempted / 3TN U9 (E) orgaied us
) 22TERA1] 12 [ PT.O. - 22TERA1] 13 [ PT.O.




58  Identify the correct statem,ents about supemumerary
posts.
1. A Supernumerary post is crﬂeated to increase the
staﬂgsg@meet extra workload.-
2. A St;pemumerary post.is ashadow post and no
duties dre attached to such a post.
3. A Sﬁ@ernumerary post is normally created to
accok@odate the lien of an officer.
4, It is msonal to the officer for whom it is created
%g%ipther officer can be appointed against such

a post,

5. Itis a‘*té@nporary post created for a definite and fixed
period.

Choose the most appropriate:answer from the options

given b

(A) 2 a@ﬁﬁ only “(B) 1,2and3 only

©) 3, d 5 only (D) 2,3 and 4 only

(E) Qués;gon not attempted =~ - '

)uﬁ%aﬁﬁaﬁm&a@rmﬁ

HY

1. aﬁf?a% AT R X T g fore st
et < st R o ¥

2. mﬁrﬁa%qa@wmua%eﬂ?@wwaﬁi ,

e el Bl
3. sfufta o5 U S & Ta ST FC b

[SUREERIE IR
4. = & aftrrr % forg sfrma gran ¥ Rreds fg

e g T s ¥ 6i Q@ ug % frg Rt o

eIy ot Prga wéY Rear s waan)

5. ue 4 fifvaa wd Fraw safy % fag gim o i)
%mﬁaﬁwﬁﬁ%mmwwmﬁm
(A) Hdw@2 i3 (B) %aw 1,2 9% 3
(C) HAw 3,435 (D) aw2,3 3004
(B) srafa usd | -

59 Methodzaglopted to reduce inﬂa‘tidn in the economy is
. %n government expenditure
2. In réase in government expenditure
3 .- Céiifral Bank issues more currency
- Fihance minister reduces Tax rate
Chooseg@lag most appropriate answer from the options
given below: «
(A) 1on +(B). 2 only
(©) 3 é*ﬁ@y (D) 4 only
(E) Question not attempted .
qH mma‘ﬁmaﬁmm
ﬁ%mﬁﬁﬁmﬁﬁm%wwmﬂm:
S (A) FEE *9m2 ‘
(C) %ag 3 :
(E) a@@&a g
= 22TERA1]
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61

62

63

,ﬁa—m@wwaew

" ‘Memorandum Book’ contains details of’

(A) Outstanding assets only.

(B) Outstanding liabilities onl o

(C) Both outstanding assets mi, outstanding liabilities.
(D) Deferred Revenue expefiditure only.

(E) Question not attemptedw -

A (1) Jerw’ §
(A) e SHET i,
(B) %o Sebrn gganelf vy

© ﬁﬂﬁ'ﬁ (SeBran) wiEaioE e ore (st Saaet,

(D) %aw Seafia ST e o,
(BE) Srara uss

The term ‘consumer’ under Cox;lsumer Protection Act

includes the following, except : " °

(A) Any person who buys goads for a cons;deratlon

. under scheme of deferr@d«payment

(B) Use of goods when sucbggse is approved by the
Buyer.

(C) Any person who obtam§“~@ods for resale.

(D) Beneficiary of service ayailed with the approval

- of concerned person.
(E) _ Question not attempted . |

KL & I w‘aﬁw I,
Frtafea o 9, Reas sffe, af o e &7
(A) Wﬁmwﬂw%wﬁ%ﬁaﬁﬁm

W%WWE’%WWW%I
(B)gg%mma@aﬁ Wﬁra@wﬁrﬁw
©) a‘smﬁaﬁﬁgwﬁéﬁ%g;w@aﬁﬁmm%i
(D) %ﬁamﬁﬁﬁmgmw%mmw

(E) oraia usw

The currency held by the puk)‘he, required reserves and
excess reserves of commercial banks combinedly

%,

¥

Lo

%e«

- known as

(A) Fiat Money

(B) Narrow Money - ’
(C) High Powered Currency"
(D) Legal tendered Money
(E) Question not attempte

(A) stafce gar
(C) =g yifert gzt
(B) SIFaNd usw

Identify the correct equation which depicts the situation
of a closed economy.

(A) GDP=GNP (B). GDP > GNP

(C) GDP <GNP (D) GDP +GNP =0

(B) Questlon not attempted

Tonely utarg (i) —oreferare & gt ¥ Prefirfaa & &
(A) MY = eady
(C) <y < Sigedy
(E) orana usw

ﬁjiﬁ@r@r > Sgd
(WW#—W 0

[PT.O.
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‘Match List T with List II.
List I List I ‘
a. Audit - I.  Record of some important
Programme information gathered prlor
to Audit.
b. Audit Working II. Fair allocation of Audit jOb
papers among Audit staff.

¢. Test checking " III. Connecting link between
: client’s record and audited

account.
d. Audit Note IV. Ensures that entries are
Book representative of whole -
set of Books.
‘Eﬁ’ft 1% S g@ﬁ i} asgam Bt |
i}
a. t«‘t@ e L qur qm w
b. W@ TlE 1. T q'?raﬂ FHHaTEl §
¥ Tt wEr-ien Rl w1 St
c. gl SirE 1. deeft erfyree we war—
: q‘&fém @l % 7e dawdl
d dEradEe IV gﬁ&aﬁm%ﬂsq&r&m
RIESC glar TE H wiatfre
1

-Choose the correct answer from the options given

below:

e fou g faeed ¥ ¥ TE S9N @ e BT
(A) a1 b-Il, c-1II, d-IV (B) a-II, b-1I, c-IV, d-I
(C) a-il, b-1V, eI, d-Il (D) a-1V, b-1, c-II, d-III

(E) Questionnot attempted / EERI

Match List I with List 1L A

List 1 List 11

a. Statutory I. Ensures that public funds
Audit - are not misused.

b. -Government  II. Highlights the weak
Audit areas in the organization. -

c. Internal - III. Undertaken under the law
Audit governing the organization.

d. Cost Audit IV. Verifies accuracy of cost

records and serves as cost

o 13w g é%’g%m
1% Qe g 1 &1
T T
- a. gifatyes w@r 1L ﬁﬁiﬁeﬁﬁm%ﬁi
Tiarer T a9 (Fif) Wgﬂaqthw
‘ & fpm mar g1
b. @A AE 1L GUST & B &30 B
e TR HTEr § 1
c. omVafR® o 1L oty & ey gres & oianfa
ieror it fema ST #1
d. WTTd @ IV. WG geiEl @l QI @
qyeror THITT Har ¥ i @rTd
Fordsror & w9 ¥ & B B

' Choose the correct answer from the options given

below:

e o g feed) § | 98 9T @ TE %TR»TQ

(A) a-IL, b-I1, c-1V, d-I (B) a-IIL, b-I, ¢-I1, d-1V
©) a-l, b- 11, c~III a-1v (D) a-TV. b-I, c-IL, d-TT
(E) Question not attempted / PECE

) 22TERA1]
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"Which of thié f8lléwing is not a capital reserve?

(A) Profit on sale of Fixed Asset
(B) ProfitPrior'to Incorporation

* (C) Profit olrevaluation of Assets

(D) Dividend Equalisation Reserve
(E) Questipn riot-attempted

Frafelea & S = grrmﬂmrﬂé’r%?
(A) R e e S g R

(B) Frma % gy &1 @ E
(C) ufEafay %' e uT v
(D) WSTWQTR’&T&'T

(B) ergaia e
~ Match List T with:List II.

List I , v List II

a. Leave cannot be claimed as aright 1. Rule-62

b. Power to exempt II.* Rule-70

c. Recall from leave III. Rule-59

d. Medical. certlﬁcate for gazetted  IV. Rule-66
officer '

T Iasmsxqgﬁ Hmﬁﬁrma%ﬁqn @

@l o

a. aﬁéw ¥ wT ﬁr el 1 T L w62
el fopan s e © ,

b. BT B SR oL 70

c. BE A aiftrg gE 1. fem-59

d. TR s » g v. FE9-66
Tt wToTe.

~ Choose the correé; answer from the optlons given
7 below

i

T R o el & @) SR &1 999 B
(A) a-II, b-ize-FV, d-1 (B) a-IIL, b-I, c-IV, d-II
(C) a1V, b-l,c-III, d-Il (D) a-IV, b-1Ii, c-II, d-I

(E) Questlon not attempted / Gﬂﬁﬁﬁ =

_ Match List I WIth Llst 1.

List I List I

a. Standards on Internal 1. Reporting
Audit (SIA)] ‘

b. Standards on'Internal 1. Internal Control
Audit (SIA)4 . Evaluation

c. Standards on Internal 1. Planning an
Audit(SIA)9 i Internal Audit

d. Standards on Intemal IV. Communication
Audit (STA)12: with management

3 @I%mﬂ@ﬂmﬁlﬁﬁgﬁml
I

2. itafe At feaf
el 7T (SIA)1

b. oA 1L eTar s
deie = (S A)4 LRIEt

c. orafes wErader 1L sfates sar gder
REBIRIEED (SIA)9 &\ A A

d. eraie war IV. wee % T |
et A (SPAI2

'~ Choose the cotFect aiswer from the optlons given below:
Ry T fergperl F @ G 9K B T BT

(A) a, bl cg,}{l d-1v (B) a-II, b-IIL, c-1V, d-1
(C) a-IIL, b-L, eIV, d-II (D) a—IV b-1, c-II, d-111 -
(E) Question not attempted / g9d

[ PT.O.
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71

72

- The accounts audited by a retired member of Rajasthan

‘ (C) The receipt of Annual grant is upto the amount of

A

. (B) Statement of Profit and Loss

- (D) Revenue and expenditure with concerned treasury.

Accounts services, on the panel approved by the finance

department, shall be accepted by the Sanctioning

Authority, if :

(A) Grant-in-Aid is given to public body or institution.

(B) The receipt of Annual grant is upto the amount of
1D lacs.

¥ 5 lacs.

(D) Tﬁe receipt of annual grant is upto the amount of
lacs.

(E) Qj;testlon not attempted

AR ¥ TSTRIT Sl el % U

arrerraﬁmﬁmahamﬁsmmﬁm gy -

(A) qu%n WWWW&T&WW
! foan T ¥

(B) qﬂméﬁwaﬁmaﬁmﬁlommﬁw

Bl iy a1 e 1

(C) AT T B AT <ITiRTeh STET 5 AT B9 b B
SUECIR I AR

(D) aﬁ*w@%mwﬁmwsowwﬁw
LTI BT BT T

(B) @gana usd

Which“of the following qualitative character of
accounting information is reflected, when information
is interpreted by the receiver in the same sense as the
sender has sent?

(A) Understandability (B) Relevance

(C) Cemparability (D) Reliability

E) Questxon not attempted
% B |l fQra o9 e Al

Gkl T
T T b1 S S G T o7 a7 3 o S e ¥ 7
O T (D) e
C) GEATETeRdT (D) 199
(E) 3P 9o

Which of the following is concerned with Accounting
Standard 3 (AS-3)?
(A) Cash Flow Statement

(C) Balance Sheet
(D) Association of persons

(E) estion not attempted
ﬁw%aﬁ@rzﬁwméww3 (AS- 3)@(@@%%?
(A) ﬁwmﬁw (B) o quy w1+ ferercor
© g™ (D) =Rl &1 @y

(E) aﬁ?ﬁa EEL|

Form CiA19 is to be used for -

(A) Monthly liability statement.

(B) Register of expenses by the head of accounts.
(C) Instances of financial irregularity.

(E) Questlon not attempted

B WG 19 HTITEET % fog fpan o ¥
(A) ifge 3gar Racer

(B) &@ YW g =9 TR

(©) Fa sfafaar & e

(D) Hafua TSN F 9T T ST @@y

(E) empaita wed

) 22TERA1 1 16
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A Govt. servant has remained willfully absent from

. duty. What action may be taken against him?

1.. The period of willful absence, amounts to
interruption in service involving forfeiture of past
service.

. 2.  Theperiod ofwillful absence shall haveto betreated

asadvance leaveand debited from future leaves.

3. Onsatisfactory reasons being furnished, the period
of willful absence shall be commuted into extra
ordinary leave. '

4.  The period of willful absence not covered by grant
of leave shall have to be treated as dies-non.
Choose the most appropriate answer from the options

given below :

(A) 1 only

(C) 2,3and4 only

®B) 2 and 3 only
(D) 1,3 and 4 only

(E) Question not attempted

TEAT 2 | 3T [er6g TR BIIaTel o Febal & ?

1. ISR STuRa & srafl, or & sner & g9
¥, forae qdf S oY o= (forfeiture) gnfirer ¥
2. SFEEHT STIURTT T @i erafir o aifir g3 &

w9 H sagd e som ok od wre gy 49
Eraceiisina i
3. ST TIURYT & &I STafy &, dgie Tardd
B TEI YA G, ATt gt & frr smom
4. SYFhT ATARTT T B 3raty, gE-Aqad

TR E R R atebre R e TS|

T R e freedt & & T sugw T H IA ARG

(A) e 1 (B) ¥aa 2 a7 3
© éaaﬁz,:zeﬂu (D) %W 1,384
(E) ST uss

Select the correct sequence of steps involved in the
process of commencement of a company.

1. Commencement of Business

2. Issue of Shares

3. Promotion of Company

4. Incotporation

5. Issue of prospectus

Choose the correct answer from the options given

“below ;. -

(A) 3,4,5,2,1 B) 2,3,5,4,1
© 423’ 5,2,1 (D) 3,4,5,1,2
(E) Question not attempted

YT BT YT B ) Uihar & of arel gXol & 981
TR &:

. HEEE & AR 2. 3T (YEr)-frfg
3. ari#ETE 4. Prple

5. fereror uftrer frfe

T fe o Forpedt & @ @@ SR @ gww BT
(A) 3,4,5,2,1 (B) 2,3,5,4,1
(C) 4,3,5,2, 1 (D) 3,4,5,1,2

(E) eﬁﬁﬁaqﬁ

[ PT.O.
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‘b.aﬂ?fﬁlm

Identify consumer responsibilities from the fol]owmg
1. Buy only standardised product

2. Assert (yourself) to get fair deal

3. Insist on cash Memo/Bill

4. File complaint in any forum

Choose the most approprlate answer from the options
given below :

(A) 1,2and3 only (B) 2,3and4 only

(C) 1 and 4 only " ~ (D) 1,2and 4 only

(E) Question not aftéempted

ﬁmﬁﬁaﬁﬁéwﬁwwﬁaﬁmaﬁm%
1. Wnﬂﬁwmﬁ@ﬁw
2. Gﬁa(ﬁma)mmﬁwmaﬁgawm
3. %97 Ae/Rre 33 % fg ot 3

4. Trdr of W (W) A R afaw s

T R g Ryehedi & 8 G SUgERT I BT T HITT:
(A) Fa@ 1,283 (B) Fad 2, 3 3l 4
(C)%érﬁlaﬂ‘{4fw (D) ®aw 1,2 804

(E) STaid Ued

Match List I with List II.
List I ‘List 1T
a. Substantive ‘1. With supplier,

- coordination government, consumer etc.
b. Procedural II. Between different

coordination . departments such as
. production, sales,

finance etc.
Concerned with contents
of organisation’s activities
Generalised description of
behaviour and relationship
of members in the
organisation

c. Horizontal III
coordination
d. External V.
coordination

, qsﬁla?wenﬁrnamﬁmaﬁﬁm

T
a. Hl{‘liﬁa
qa

T

. s % |

L s, Ty, fo et S

L. e @ ity el

sy Tow—awgelt @ wefia

“1V. IR T GG avi
T e % Ta@l b qEY

Choose the correct answer from the options given

below :

T fou Ty el fr @r TE ST BT TIT BT

(A) a-L, b-I1, c-III, &=V (B) a-II, b-I11, c-1V, d-I

(C) a-IIL b-1V, c-IL,id-I (D) a-1V, b-1, c-II, d-11I

quay
c. &ftre g

d. 918 g <"

77
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(E) Question not attempted / ST U

=~ 22TERA1]
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Which of the following statement is NOT true?

(A) A cheque becomes a voucher when it is duly
receipt and stamped ‘paid & cancelled’.

(B) An adjustment bill for *“NIL’ amount involves no
payment. 5

(C) The ackngwbledgement (pre-receipt) shall be ,
submitted with claim bill. :

Stamps afﬁﬁﬁéd to vouchers shall be cancelled.

D) ¢

(E) Question no

ﬁw%rﬁgﬁﬁﬁﬁmwmwww%?

(A) T b T UL & A S THH ATl e
e fome % 1T w8 T A R T el
e a%g%wwné’;wé‘r%t

(B) ‘s v&r?ﬁﬁqw@mmﬁaﬁéw:@

BT 31
(© ar%%%m%wwﬁ@awaﬁmﬁ’rm%m
(D) areerE R ol feel aht Freet e A anfew
(E) ajaﬁ?fué#i

What is the correct sequence of the steps 1nvolved in
writing of a case. sludy"

attempted

1. Drawing cgmlusmn

2. Description:ef the Issue

3 Identiﬁcaﬁ‘éﬁ of data source

4. Collection{“éf data and Interviewing
5.

Drafting the ease

“;IEB‘{“T(%H) amé@ﬂ%ﬁwaﬁw‘éﬁaﬁ

a@ﬁwaﬁa@ww%?
1. ﬁw&ﬁzﬁm

2
3 m—a‘ﬁﬁr CECIE

4. em—emw aﬁT &I
5. &9 ( m} ?‘m"r &Y

Choose the correct answer from the options given
below :

ﬁ%hm%ﬂﬁﬁaﬁwmww

(A) 1,2,3,4,5 (B) 2,3,4,1,5
(C)324,1,.‘§ (D) 2,3,4,5,1

(E) Question not attempted / Gﬁﬁﬁﬁ o

[PT.O.
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(C) THE -3 B WG (AR w1 A um

(B) orgafa v

‘Lapping’ is related to:

(A) A device used to detect misuse of cash collected
from debtor.

(B) A mal-practice by which cashier makes: Private
use of money.

(C) A method of Vouching cash transaction.
(D) A method of Vouching non-cash transaction.
(E) Question not attempted

AR BT I B

(A) T TUHTO R FENT IR & e )
gw&r(ﬁag)%agmnwwwnﬁﬁmm

(B) T% werr fraw e, el
Sl & 9T BT Aar B (o) =

fafén)
D) g{ﬁ;ﬂﬁ A3 B yire (arshiT) B @
l _

Balancing of Account refers to :

(A) Total of credit side

(B) Total of credit and debit side

(C) Total of debit side

(D) Difference between total of debit and credit
(E) Question not attempted
GraT-Egad & (FAtT) T e
(A) ST 9& BT A AR

(B) STHT e A U& &1 FT ART

(C) T 9& I H& AR

(D) | R TE S AR A e ey
(E) arafa s =

Economies with lower per ¢apita income grow faster
than richer economies. This gap in per capita income
between the two economies is known as

(A) Convergence (B) Divergence

(C) PerCapitaTrap ~ (D) Liquidity Trap

(E) Question not attempted

Tt ity ey o1 el arefegereand Ty areferareaii
Y aifies Ao & gig BTl ¥ 1 AT arefeerenal F aw
wir =afe e @1 i HEATAT T |

(A) STty (B) STaEo

(C) uf =afery rar (D) T aIeT

(E) Srgafea usT

) 22TERA1] 18
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- Q, 9 RS &7 39 BN eI &1 Geie e

) g T ferenedt & & A SugeR S T A AR

(B) An account where imprest money drawn is

The rectification for undercasting of sales book by ¥ 100
is corrected by which of the following adjustments when
the difference is placed in suspense A/c?

1. SalesA/c Dr 100 2. Sales A/c Cr 100
3. Suspense A/c Cr 100 4. Suspense A/c Dr 100

Choose the most appropriate answer ﬁ‘om the options
glven below :

a1 and»Z only (B) 2 and 3 only

(C) 3 and 4 only (D) 2 and 4 only

(E) Question not attempted

feent <€t & T 100 WY Tl 1 9 sreer fa T B
TR % 59 SIAN B I @i § wfale s ux, P

S ?
1. b @ = 100
3. 3T W S 100

2. foenl T st 100
4. SEq @@ A 100

(A) Faa 182 (B) e 2 &t 3
© %masaﬁu (D) e 2 3T 4
(E) orgafa usH

What is a Personal Deposit (P.D.) Account in a
Treasury?

(A) Anaccount where personal advance given to Govt.
servants is deposited.

deposited for use.

(C) All non-government money received in treasury
is deposited in P.D. account.

(D) Itis operated by the department to separate the
revenue receipts and payments to Govt. servants.

(E) Question not attempted

e H R e (QE)) EmrE § 7

(A) T @i e axarl) Yawl B < T st
& fdt @t st fpan e ¥

(B) T @ Forgd freprell 75 STaT SR Bt wH
e e ¥

(C) TSTaBTY ¥ g €t TRy woft Ty & TRy |
w1 9L @ § s e st 31

(D) ST e FrmT ET e Wi & e axenrd |
gaﬁaﬁmﬁgwm%m%mw ‘
|

(E) g e

[PT.O.
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~ Identify the correct sequence of the steps in the process
of selection.
1.  Selection Test |
2. Employment Interview
3. Medical Examination
4.  Screening of application

Placement and orientation

Choose the correct answer from the options given
below :

A 1,2,3,4,5 3
©) 4,1,2,3,5 (D) 2,
(E) Question not attempted

TOAT—aRRET § ST TR SO &1 Ul BH ] TEaE B |

N

1. wEadEer 2. IS SEh
3, Tafteer oledr (Sf) 4. STdEH & BE-3F
3 fu g feedi & § 9E IV B T B
(A) 1,2,3,4,5 (B) 3,4,5,1,2

(©) 4,1,2,3,5 (D) 2,3,4,5,1

(B) orgai@ wed

Which of the following is not included in general
principle to be observed by subordinate authorities
empowered to entér into contracts of agreements
involving expenditure from public funds?

(A) The terms of a contract must be precise and

definite.

Who will pay taxes and duties should be cleared
before entering into any contract.

Copies of all contracts for purchase of and above
the value of ¥ 50,000 shall be sent to the
Accountant General.

Contract for purchases involving import from
abroad shall provide for purchases on F.O.B.

_ basis.
(E) Question not attempted

¥ YA BT g, HUBIT ITT STefieTRe SRy % ET

WWWW%@W% e 5 9, = e TE

%7

(A) wftrer @ o T ol Fivaa g it

(B) Tpe o dfEr & B O IE ¥ W BT @ A1y
5 @0 3T IEhT BT A B BT

(C) ¥ 50,000 3reren S AU I & % g Gl
TReTa @1 i (TETeRaTeRTT) Bl Al S T |

(D) Tl & ema @ wehea mat & g arEe
. ésaﬂwwmmmawﬁmw
Sl

(B) orgaied 99

(B)
©

(D)

- 22TERA1]"
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Which of the following is not the duty of the Revenue
or Administrative Department in terms of dues of
Government?

) Correctly assgééed

(B) Promptly collected

- (C) Kept in safe ‘custody

(D) Correctly aceounted
(E) Question not aﬁtempted

YIHIT B W%ﬁwﬁﬁwﬁ@rw%@m
TSR STeTaT USTIETeh framT i saied/edr el § ?

(A) mv&rﬁwmw%l
(B) ﬁmﬁwﬁamw%l
©) a’%gﬁéﬁa@ﬂwﬁmw%x
D) maﬁméﬁvﬁmw%x

(B) @ usﬁ

Match List I with Llst II.

ListT List I1

a. Appointment.of I. Section-139 (5)
Auditor by CAG

b. Qualification and 1I. Section-141
disqualificatien’ of
Auditor.  ©

¢. Powers and dunes of I11. Section-142
Auditor o

d. Remuneratlon of Auditor  IV. Section-143

K.l I%Waq‘rﬁ 1 %1 firerrt it |

Tl e Tl

a. QLU EOIRE-TOEE [ @s-139(5)
#frgfm

b. é‘nm ‘Tﬁ%ﬁﬁ ﬁ axé?ﬂq 1. @s-141

c. dE-TdEE ‘af%“ gfFEl L @s-142
T % (i)

d. wEr-uderes &t miates V. gs-143

Choose the correét answer from the options given
below:

ﬁﬁﬁqmﬁ’cﬁﬁﬁﬁwmmwm
(A) a-l, b-1l, c-g»ll, d-1v (B) a-1V, b-UL, c-11, d-I
(C) a-l, b-11, c-IV,; d-1I1 (D) a-Il, b-I11, c-1, d-1V

B (E) Question not attempted / aﬂﬁﬁ?{ LS|

[ PT.O.
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b, fafmE e 1L

Match List T with List II.

List1 List IT

a. Promissory 1. Unconditional written
note undertaking signed by the

maker; to pay a certain
sum of money to certain
. ' person or order
b. Bill of . 1L

Instrument drawn on
exchange specified Banker not
expressed to be payable
otherwise than on demand
¢. Cheque 1. Unconditional written order,

signed by maker directing
* certain person to pay a

-certain:sum to a certain
‘person or on his order

Order issued by one bank to
another Bank or its Branch
instructing the latter to pay

a specificed sumto a
specified person on his order

T 13w g 1 1 v A
g ™o

a. o9 O I foreht =afm ® g5 awrafy

- YA B % Y Y 59
a9 T BT wEer (R
ort Tl enyamam) emyr
& AT & o 99 H wu A
7 qaTar s
T A F B wEEr
i Tl amdar fred 9w
fder Teen ¥ fop sy saf
31eT fopen
ST SEHT ATl % R Y
fepan T s foed Reelt
T b w1 et R s &
T sl safiry @1 o1 sas

Choose the correct answer from the options given
below : ' ‘

e g Ty frepedt F @ W wTX @ T A

(A) a-L, b-IIL, c-IL, d-IV (B) a-II, b-IIL, ¢c-1V, d-I
(©) a-llL, b-1V, ¢-I, d-II (D) a-1V, b-I, -1, d-111
(E) Question not attempted / «?ﬂiﬁﬁﬂ EEL

d. Bank draft Iv.

c. B 1L

d. ¥HgwR  IV.

) 22TERA1]

89 .. .Goods costing ¥ 25,000 are sold for ¥ 30,000. Identi

90

91

the effect of the transaction in accounting equation.
1. Increase in cash by ¥ 30,000

2.  Decrease in stock by ¥ 30,000

3. Decrease in stock by ¥ 25,000

4. Decrease in capital by ¥ 5,000

5. Increase in capital by ¥ 5,000

Chhose the most appropriate answer from the options

given below : .
(A). 1,2 and 3 only (B) 2,3 and 4 only
(C) 1,3 and5 only (D) 3,4 and 5 only
(E) Question not attempted '

% 25,000 Y FRTE ITe T3 BT T 30,000 F T T |
‘%lﬁ"@mmﬁ%@;mwﬁ%x
1. HAHT30000@ kg
2. Wi H T 30,000 &) HHY
3. WS HT25000 N HFH
4. Sl 9 5,000 B B
fﬁaﬁ{q ﬁf?s,oog? ‘ «
T Fereheal & & e SUY R S T TaT BT
(A) %ae 1,2 8K 3 (B) e 2,3 T4
(C) waw 1,38k 5 (D) %o 3,485
B) srgana us T ‘\

The Companies NOT required to appoint interna
Auditor, mandatorily are:

(A) Every listed company. '

(B) Unlisted Public company having paid up capita
‘of 50 crore or more in the preceding Financia
year. '

(C) Unlisted Public company having turnover of more
than 200 crore or more during the preceding year.
(D) Private company having tunover of less than 100
crore in the preceding year.

SEG% Questwion not attempted

Tt R ST w9 &, s drar_ e

%! Frgfert H @Y, srresadsar w8 B —

(A) &% FAEF B :

(B) el fx— gefadi
aﬁﬁ?ﬁq%aé [ 50 BIre sreran SR Siftes v ot

|

(C©) Tl IR~ wrelwifvies bustt Rorarept qafard o

gamzoommmmwwm
|

(D) T st dhay Rt gefadt O ¥ 100 w0 &
Y B e e g

(B) gt usT

The primary qualities that make accounting information
useful for decision making are:

(A) Relevance and consistency

(B) Free from bias }

(C) Reliability and comparability

(D) Presentability ‘

éE). Question _‘g‘ot attempted N
IGEEGIT m ? e

A mﬁwé'ﬂ e Friaea

(B) yaime

©) ﬁ?ﬂ%m
(D) wsgfa drar

(B) argaid usw

[PT.O.

Who is known as the Architect of Indian planning?
(A) Jawaharlal Nehru  (B) R.K.R.V.Rao

(C) P.C.Mahalanobis (D) Dadabhai Naoroji
(E) Question not attempted

ATl P (AT T AT (STEGHIT) I ot ?
(A) STAETAE VEE (B) 9T, %. . AL T
(©) . A wErEFIE (D) FETHg Hen

(B) rgand wes

93  Match List;If with List IL.

List I ~ 7t Listll
a. Substantive. 1. The pay to which Govt.
Pay * servant would be entitled if

he held the post substantively.
To save Govt. servant from
a loss of substantive pay.
c. Personal Pay III. The pay by reason of his
substantive position in

- the cadre. ’
d. Presumptive IV. Additiontothe
emoluments granted in

b. Special Pay 1L

P
¥ consideration of the specially
: arduous nature of the duties.
T 1% e g 1 1 e aifsg )
T R !
a. UG dAH 1 9 Ja O WXHT Hah
v T T BT A9 SBATT B
EICEGER R A T I
b. W aEH 1L W Ya% B I 9E A
' %! T § T4 &g
c. fya dad 1L HTH I8 I 9 Rafa
% BT 4 AT
d. welaa daq IV, fafire sq @ s
FHATET YHIT & BT STEA
- Rl @ srfafa
Choose the correct answer from the options given
below :
Hra fw a frepedl # @ 91 I &1 IIF BN

(A) a-L b-IL ¢-IV, d-III (B) a-IIL, b-I1, c-IV, d-1
(C©) a-II, b-1V, ¢-II, d-I (D) a-L, b-1V, c-I1, d-1II

(E). Question not attempted / Gﬁﬂﬁa EEE

94 The correct accounting equation is:-
(A) Capital = Assets + Liabilities
(B) Profit = Assets — Liabilities
(C) Assets = Equity + Liabilities
(D) Liabilities = Capital + Assets
(E) Question not attempted
e ¥ § 8 AEieT GHG HE AT Y ?
(A) Joftr = ufgafzat + Fgarg
(B) v = uigufar - daard
(C) ufveufaar = gi%ﬂ'é?( + %afnq
(D) ¥gard = goi + ufdufaar
(B) ergara 9ed :

- 22TERA1]
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96

97

98
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®

Which year in India is regarded as defining year to
mark the demographic transition from its first to second
decisive stage? .

aed ¥ Sriiers wuiaer & guw ¥ fade s
=T ¥ aiftea B % forg fre F § forg o @1 e
% &9 A ST S € 7

(A) 1981 (B) 1961

(©) 1921 (D) 1901

(E) Questionnot attempted / aﬁﬁﬁﬁ EER]

ervant’s lien on a post may be

A Governrruva;ijl:f

terminated on -

(A) the request 0
without lien.

(B) being suspended from the permanent post.

(C) his acquitifig a lien on a permanent post outside
the cadre. '+

(D) performing the duties of that post.

(E) Question not attempted

TRl Ug U G e b MO Bl qHT fehd

WE%HI%: oL

(A) T HHET e S 9T ST e, S R e
RO & Bredl |

B) wwr ug & Frafya feg s @

(C) e A Tax el Tl we o S 51

(D) SH UE % il s e Hi uX|

fGovt. employee which leaves him

(B) Iana uet |

Consumer Protection Act was first enacted in the year:
- SovirerR geT st e fre o # ettt

(A) 1986 : (B) 1936

(©) 1932 (D) 1980

(E) Questionmr;ot attempted / Giﬂﬁﬁﬁ ETSFT

Authority having the powers to impose and realise fines
shall ensure that - -
(A) fines are collécted to achieve the budget targets.
the moneyfisiFealised and deposited in safe custody
of cashiersg5} «
(C) refunds are.adjusted from the fines. .
(D) the money is realised, checked and deposited in
the treasury.
(E) Question nptattempted
uiresT ree wre areideY (wh) A ST STl el
T Y qTierral e ¥ o= ghfyaa s B s —
(A) wote e Y TRt 2 fore e SRge e ¥ 1
(B) I %) I B HITET Bl YT Heesl o
ST T & S B , .
(©) w= ad (Frbgd) & gAF F wAESE
S R Ch L
(D) & o e o S el ) T S i T
F ST T fo e &

(B) srgaf@uss .
[PT.O.




99 Rule 144A shall not apply to -
4 (A) Government servants sent on deputation to
panchayat samities. ;
(B) Government ser\g appointed by Govt. and
; deputed to a supeteseded Municipal Council.
(C) Govt. servants of p@éice department sent to Central
Bureau of Investigation.
(D). Govt. servant of c¢ peratlve department deputed
to registered co-operative institutions.
(E) Question not attempted _
g 144 % T AT E B
A) maaﬁ%a‘rﬁwﬁrﬁgﬁm% STHR IT 9 Y
LT dEw |
(B) ¥R g Fga
T qfvwg o
(C) FHr™ 3w
LB YT |
(D) wEardl fovm &
wearatt o
(B) rgana 997
7100 Independent financial A
(A) Companies /
(B) . Partnership Firm :
. (C) Hindu Undivided Famﬂy
(D) Registered Partnership Firms
(E) Question not attempted
freftrfaa & & fbeds e s fordiia wan wlem
ifafires w7 & sy i § ?
(A) ufwr
(B) wrEETdl wH
(C) srfqwiivma feg.
(D) dstiga TSR
(E) ST usd
101 is the Apex body accelerating industrial
development in Rajasthan. ,
‘(A) MSME (B) RICO
(C) RAA (D) CMIE
(E) Question not attempted
ISR % Sfrenfires ?dm B TR WG B STl e
fem_ ¥ '
(A) TITETE, () oo A o
() e uT. (D), Hi.uw.amg 2.
(B) srgara usa
102 Which ofthe followin, ot the objective of Auditing?
(A) Expression of Independent opinion on accounts.
(B) Communication of financial informations to
management. )
(C) Examine the B of account and relevant
- documents. ’
(D) Detection and prevention of frauds.
(E) Question not attertipted
e & A o AE-aE B ST e
(A) @l (eran) gt @ wa (Ram) # sfreat
(B) yeYe qe forirenga (STa) &1 sywor| -
(O) ETaT-El TR YRR Sl & Sig S|
(D) BWHYL ST Yol WRIFT T& Frameer (Jesam) |
(B) srgaf@ust-
) 22TERA1]
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104

105

Identify the mission stggged by NITI Aayog to promote
innovation and entrepgﬁneurshlp across the country.

.(A) Atal Adarsh Mlss'f

(E) Question not attémpted
%m%m%ﬂ%mﬁ@w&m@rm

' %‘#%ﬁm@ﬁmmmm IEH! gEAH B

© mwﬁwﬁﬁm

each finds himself influenced
by the other and both ‘are influenced by other persons
and factors in whole situation.” Identify the prmc1ple
of coordination involved.

(A) Principle of dlre’efz contact

(C) Principle of earf?start

(D) Principle of cortiriuity

(E) Question not at@eﬁapted

“o1g I X, Y & W1 B SRy, A H gEl ¥
mm%mﬁ%mw&ﬁaﬁmwwﬁmﬁr
e T & TR S 13Ed e e O W
% fagr &l eam Hivg)

(A) weaE dud o1 R

(B) Wﬁmwaaﬁ%ﬁ

Which type of Govt. Wnent shall not be made in cash?
(A) Payment of Imprest money

(B) Contingent expenditure

(C) Secret service f;md

(D) Scholarships in: Egiucatlon Department

(E) Question not agempted

o WebT & TR AT Ty N 7 e s Wi P

(A) O Yorit a1 éﬁaﬁ

(D) Tven Revie & wrrgfai
(B) orafa s

[PT.O.
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107

108

The purpose ‘6f Disinvestment in India was mainly

1. Improve financial discipline and facilitate
modernization.

2. No need to give Bonus to the employees. -

3. Managerial capabilities could be effectively used
to improve the performance.

4. Granting status as Maharatnas.

Choose the most appropriate answer from the options

given below:

(A) 1 and 2:o0nly: (B) 2 and3 only

(C) 1and3 only (D) 3and4 only

(E) Question not attempted

R o ‘fafras @ g sged W au?

1. ﬁ%ﬁaagsm%gm@ aﬂgﬁaﬁwm‘rm

2. Wﬁ%ﬁﬁﬁm&mﬁﬁ?ﬁ
|

3 ﬁwﬁw%gwaaﬁamaﬁammmﬁ

U feman S wehd T
et St swl weT w |
ﬁﬁﬁqwﬁmﬁémmwww

(A) avamaﬂxz : (B) mzaﬂn
(C) %aa 13T 3 (D) éﬂasaﬁu

(E) sTgafed us

Which of the following is not an objective of vouching?

(A) Examining accounting entries in the books of
account with reference to documentary evidence.

(B) Verifying the authenticity of transactions.

(C) Evaluating the .adequacy and reliability of
documentary evidence.

(D) Identifying documentary evidence in support of
transactions.

(E) Question not attempted

R A e arafiT o Se TR ¥ 7

(A) g e % dey o wrar sl ® i wfaftedt
- IOE B

(B) WAl (HeHaei) N

(C) v |y &Y T Ue fasereiea ol e |

(D) @939 & 9&T ¥ g d1eg 1 udr @

(B) Srgaie usH

In case of adjustments for change in profit sharing ratio
among the partners, Goodwill existing in the Book is
to be : .

(A) Written off in old ratio

(B) Adjusted in gammg/sacnficmg ratio

(C) Written off in new ratio

(D) Written off in equal ratio

(E) Question not attempted

TR % Hed W19 YT STura & ufked™ & gHmaisr
%\ Rufy §, w1 ¥ st (Rremm) goam/enta i
(A) g{ﬁeﬁqﬁﬁmmw%x

(B) . wrH/eroy STUT H THENG fpar s 2 |
(C) U urd ¥ oI ot s 1

(D) TH U ¥ STIeE fhar Swem §1

(B) srgaia usd

- 22TERAL1 |
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110

11

List I

'Who shall keep the Finance Department informed of
- the progress of collection of revenue under their

control? )

(A) The Head of Department
(B) The Controlling Officer
(C) The Collector of revenue
(D) The Treasury Officer
(E) Question not attempted

ma@?mwaﬁmﬁfﬁmﬁﬁﬁw
aﬁﬁawﬁf%?

(A) Taummeas

(B) ﬁusruratfhasrﬁ

(C) IST&l UTED (helere)

(D) HraiRmEsT .

(B) srgafa uga

increases the effectiveness of communication.
(A) Technical language (B) Lesser coverage

*(C) Pre-conceived notion (D) Integrity

(E) Quest1on not attempted
BT T H T S 2 |
i u;z‘rawi{gm o eIk ( )
© e D)
(E) oraia ued
Match List T with List 1L

List IT

a. Goingconcern 1. Account for expected.

concept : losses but not the profit
b. Prudence " II. Events that are not
concept capable of measuring
in money are ignored
¢. Matching III. Business will continue
; concept to operate in the
‘ foreseeable future
d. Money , 1V. Revenue of particular
measurement accounting period
concept taken against the
expenses of that period.
A 1% a q:nﬁ e ﬁqaﬁ BT
*erwr?qa w1 T T
T UL AT B TR
1L 3 afor, s i (99)
Ao § e w8 i,
TR B S ¥
1. fee wfesg s
Fréat wanfea grar @

1v. fafdre dies ety
wEt % fg s fear
ikl

Choose the correct answer from the options given

below :

’?ﬁ%ﬁqwﬁm‘rﬁ%wwmmaﬁm.
(A) a-L, b-I1, ¢-ITI, d-IV (B) a-II, b-1I1, c-1V, d-1

(C) a-lL b-I, c-IV, d-IT (D) a1V, b-1, c-1I, d-1I1

" (E) Question not attempted / \31@?{?(6[ s

[PT.O.
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13

114

»» 22TERA1}

b. Intermediate

Match. List I with List II.
ListI List IT
a. Final good I. Used in production process
II. Will not pass through

goods™ production
c. Constmiption  III. Used as raw material
good&i .
IV. Purchased by ultimate customer
AN 11 1 Fre aifg |
™o

Chooséﬁe correctanswer from the options given below:
T Rty fRreedt § ¥ FE SO & 999 BV
(A) adlgb-1V, c-IL, d-IIT  (B) a-IV, b-II1, c-I, d-IT
T, b-1, c-II d-1vV- (D) a-II, b-I11, c—IV d-1
u%stlon not attempted / ?ﬂﬁﬁ‘d LS .

Fiat l\/ga;xey . -
1. Gtgfﬁ coin 2. Currency Notes

3. Coin 4." Cheques
Choose the most approprlate answer from the options
given below:
(A) 1 and 2 only (B) 2 and 3 only
(C) 3vand 4 only (D) 1 and 4 only
(E) %ﬂon not attempted
- ifyfee r

<

1. H@g}jﬁ‘ﬁﬁ? ; 2;’ g;aas#rz A

'vﬁ‘ér ﬁwﬁﬁ%meﬁgﬁwwma&m
(A) e 12 (B) % 2 87X 3

(C) ¥ew 3 3l 4 (D)%maﬁu

(B) Sigaifea ue ,

The major causes of low development of

entrepreneurship include :
1. Being motivated only by money
2. Passion for the business;.
3. f@ﬂa(:lty despite failure
Not listening to feedback of customers
e ought that “entrepreneurs are born”
Choo%the most appropnate answer from the options

and Sonly-  (B) 1,2and3 only
() 2 'and 4 only (D) 3,4 and 5 only
(E) Question not attempted

Sefrar 3% ored (Rg7) fyepre & v s F snfrer ¥
1. %eaw ﬁmﬁﬁ?ﬁﬁﬁ‘{%‘ﬂ
- 3. W%aﬁﬁgwmaﬂt
4 wfergfy X e e &

5:
,,ﬁ%ﬁ%ﬁmﬁéwﬁmwwwaﬁﬁq

'(A)iwrmaﬁ-ts (B) ®aw 1,2 30X 3.
(C) Haw 2,3 M4 (D) &9d 3,4 35
] SIEGR' Ll
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116

117

(C) 2and 4 only

How to Avoid Double Counting?

1. Sale of final goods to consumer should be
consideregd:

2. Adding th% value added by all the Economic
entities s,

3. Income of the producer be added.

4. Expendltﬁt‘e of the producer be added.

Choose the most'appropriate answer from the options

given below: 7.

(A) 3and4 o;tlgé (B) 1and4 only

(D) ‘1 and 2 only

(E) Question not attempted

a“sei’r AT T IRET 6 B 72

aﬁvm@mﬂﬁwaﬁéﬂ%w T feT ST

2. et aféres sferal 2T fobg g e el 1 S

3. SETEH BN S B ST Y|

4, IEEH BT %:‘fa ST WU |

et R T et & ) SR A T S A

(A) e 3 afrea (B) ¥ 1 o4

(C) e 2 afit4 (D) as—qalaﬂm

(B) ergafva 9

Identify the cofréct sequence of steps in the process of
Accounting.

1.  Analysing

2. Recording, Classifying and Summarising

3. Identify_i

conomic events

5. Communwatmg
Choose the cortrect answer from the options given

below:

A) 1,2,3,4 B) 2,3,4,5,1
©) 3,4,2,1 D) 4,51,2,3
) Questlon attempted

‘Capital structtire’ refers to combination/mixture of :
(A) Long term fund and Short term fund

(B) Owners fund and Borrowed funds

(C) Source Q; Long term fund only

(D) Sources QF owners fund only

(E) Questlomnet attempted -

#ﬁw&aﬁwﬁ@rﬁmwﬁww

' e‘@@x@ﬁﬁma‘ﬁ%%?

(A) ARy ud sl Fi
(B) w@rHi/miiReE & fiy wd sard @ Ffy
(C) Faw Srdmrim fiftr & &

(D) Fam @At % dra

(E) Hjﬁﬁ‘ﬁqﬂ

[PT.O.

118 A Govt. servant got appointment on a gazetted post
after undergoing training for a period of 15 months.
He resigns from the post one year after the completion
of training. He has to refund :

1. One year salary paid excludmg the travelling

allowance.

2. Emoluments paid to him d

3. Expenses incurred by the

4. Travelling and daily allo

training X

Choose the most appropnate mgswer from the optlons

given below : oy

(A) land2 (B)*2 and 3

(C) 3and4 (D) 2and 4

(E) Question not attempted

fepell el Qo Wi 15 ATE-wT TieT qut B H

U TSTarNa ug oy R | 9 aidtemr qui e

%waﬁww%w%%%l@ﬁﬂ?ﬁmﬁt
3. uﬁtwwwmgawﬁmwmx

4. witrerr % SR e A i) A el

e fag T foesedt & @ wﬁ%ro@ EERERICEREC (]
(A 18R2

(C) 334

(B) o ued

119  Accounting standards are apfﬁkable to which of the

following ?
1. Multinational corporatigis
2. Trusts
3. Association of persons
4. ‘Purely charitable organisation
Choose the most appropﬁ,aie answer from the
following: :
(A) 1,2,3and 4 only (B‘ ‘”Q 3 and 4 only
(C) 3 and 4 only (D)1,2and 3 only -
(E) Question not attempted :™;
Wi ", Frtatad ¥, feE v wica B ¥ 7
1. Sgusy fem 2. R
3. eafeal o1 EY 4. Tags sl greH
T e g fodbedt ¥ ¥ w99 SUgE ST W qw
BT
(A) ®a 1,2,3 8R4 (B)-Faw 2, 3 3T 4
(C) %aw 3 34 (D) et 1,2 3K 3
(B) orgafed ued
~) 22TERA1] 25
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122

__ is applied when the Amount of Insurance
policy taken is lesser than the value of stock available
on the date of fire. :

(A) Principle of utmost good faith
(B) Average clause

(C) Principle of Mitigation of loss
(D) . Principle of proximate clause

(E) Question not. attempted

eqawm%rgq@rw%at
e ®

A) wmwﬁ@a

(B) daads ()

(C) =1 % st ot Ragrma
(D) aﬁrqwae(sﬁ aﬂﬁ@-—d
(B) srgai@ust

Hawa Mabhal in Jaipur was built by

(A) Mabaraja Pratap Singh
(B) Raja Surajmal Singh
(C) Sawai Jai Singh

(D) Maharana Kumbha

(E) Question not attempted

g3 Rea gamed 3 g Pl e e ?
(A) wETUST v e (B) e YIomd 6

(C) waTs safE (D) AST-GFT

(B) orafa ues ' %

Steps of the process of refund are :-

- 1. DDO will submit its claim to respy tive treasury

with GRN and CIN.
2. Claim is submitted to the conce:
. with CIN and GRN.
3. Department will check the authenﬁnity of receipts.
4. Treasury will maintain record of refund.
5. Treasury w1H check the deposition of revenue
receipt. 7w . ;
Choosethe correc
(A) 2, 1, 3, 5, 4é

m@eﬁ:ﬁmmmeﬁﬁwﬁw
TSTHIY Y S, ST, Qaé’rané . o T4 ST

2. oA gafer Rram A A e, e?rttvﬁ.m.qw.
% Ty 51 fepar o B

3. T urateay & gt S BT

4. TR gH-amae 1 e (ais) @

5. ST ST TEIE & STHT 89 &S Ham|

A Ry 1y repedt & | €T ITX B 9T BT -

A) 2,1,3,5,4  °  (B)2,3,1554 -
©) 2,3,1,4,5 (D) 1,2,34,5
(E) oA usd

[PT.0.
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Identify the proper sequence of the steps involved in
checking salaries.

1. Deduction on account of Provident fund, Income

tax etc. should be checked.

2. Recipient’s acknowledgement, bearing proper
revenue stamp, be checked.

3. Cheques drawn should be tallied with salary
register.

4.  Costs and Cross costs of salary register should be
checked and amount be agreed with Cash Book.

5. - Authority for increm'en;t. should be checked.
Choosethe correctanswer from the options given below:
A) 1,2;3,4,5 B) 2,3,4,5,1

© 3,4,5,1,2 D) 4,3,2,1,5

(E) Question not attempted

%ﬁmmﬁ(ﬁaﬁ)ﬁw@mﬁaﬂ%mﬁwv?fw
& I ¥

1. wafasy fify, Wﬂf&@ﬁ@ﬁnﬁraﬁ@aﬁ

S BT

2. m—mmwaﬁmmmw@
Y S HET ,

3. omefa det @1 a7 TR b T e
¥ <R % uierdl Td yR-aftest @ it
amﬂmsaa%wrwwﬁﬁﬁﬁmm
Eliray

5. W%uﬂmﬁmﬁaﬁml

9 fou o fyeedl § § GE SO @1 99 BT ¢

(A) 1,2,3,4,5
©) 3,4,51,2

(BE) rand usd

Which of these is an ‘aiifokriomous body under

Rajasthan?

(A) The Rajasthan Fmanc1a1 Corporatlon Jaipur

(B) The Rajasthan State Hotels Corporation, Jaipur

(C) The Board of Secondary Education, Ajmer

(D) The Rajasthan Smaﬂ?qndusftries Corporation,
Jaipur

(E) Question not attempted

Wﬁﬁﬁ%aﬁﬁ—mmﬁm%mm

%7

(A) T R e, syl

(B) TSTEU™ Y Bewd [T, SyR

(C) wreafirm faren 91, av@

(D) ST Y FETT ﬁm:r YT

(E) At usH

(B) 2,3,4,5,1
D) 4,3,2,1,5

> 22TERA1]
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Which of the following is NOT ,included in the duties

and responsibilities of the Head of an office?

(A) To sign as a Drawing and Disbursing Officer.

(B) To ensure economical procurement of store
articles.

(C) To ensure adjustment of temporary advances given

‘ to Govt. servants.

(D) To grant budget to various schemes in the office.

(E) Quesnon not attempted

T mﬁw‘raﬁwaﬁaﬁﬁwaﬁmﬂﬁ

TN EEIEACH |

(B) @rﬁa@@a&aﬁ%zﬁr%&rﬁgﬁ&m

L © mra@meﬁravgmmwwas
' AT @
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(A

. gt i
(D) mﬁﬁﬁmmeﬁ%%qmmm|

(B) srgai us

Terminal leave, to the extent of privilege leave due and

admissible, may be granted to the following Govt.

servant on the termination.

Govt. servant has been dismissed from service..

(B) Whereas the services of Govt. servant have been
terminated under penalty.

(C) Ifperson employed for a period of exceeding one
year on contract basis in terms of R.C.S. Rules.

' i(D) “Apprentices of Govt. who will continue to be

governed by normal rules apphcable to them.

(B Question not attempted -
PR 3 2

fera e ¢ Eﬁaﬂﬁﬁaﬁﬁm STIBIT

,ﬁ@mwmwﬁaﬁaﬁwﬁwmw
* Yo A UST BaT S Gl & P

(A) Wrﬁmﬁwﬁéméa@iwmﬁmwﬁ;

(B) mw%%%mmﬁmﬁﬁm
T BT & TS B |

(©) afxers =t s oy, P baea
X T a9 U S @i srafy % g

(D) ATHTHIRT, a‘tmmﬁaﬁrgmmﬁmaﬁl

(B) orgafd usT

Which of the following combination is NOT a

i amm'

~ characteristic of a successful entrepreneur?

1.  Persistent

"2. Selfignorant

3. Rejects Risk
4. Innovative

;Choose the most appropnate answer from the options

given below :

(A) 1and?2 only B) 2 and 3 only
(C) 2and4 only (D) 1and4 only
(E) Question not attempted

T A B qumwﬁﬁ%ﬁwﬂﬁ%?

(A) Had 182 (B) Fa« 2803
(C) e 2 3T 4 (D) % 1804
(B) erana ued '
' [PT.O.
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(B) IER @ & 7

Creation of provision for Bad Debts leads to :

(A) Debiting Bad Debts Account

(B) Debiting Debtors Account

(C) Debiting Provision for Bad Debts Account

(D) Crediting Provision for Bad Debts Account

(E) Question not attempted
iaammmmﬁwﬁ%wasﬁmw% ?

(A) T@ FO1 @ BT

Which of the follo%ﬁ"ﬁg government servants are

exempted from prodﬁ&on of medical certificate?

(A) A Govt. servant-promoted from non qualifying

service paid from local fund to a post in superior

service under Govt.

A Govt. servant recruited through a competitive

examination who had to undergo medical

examination.

(C) A Govt. servax%f“%-e-employed after remgnatlon
from the post Véﬁ@re he had to undergo medical
examination. goe

(B)

in.a class IV service appointed in

(D) A Govt. servan
a temporary vacaficy of nine month duration.
pted

E) Question not atéml
%ﬂ‘ﬂ%ﬁ'ﬂ ¥ B

g TR wHaneal @ Rt
I/ UTA & ?

s dar § ygrdE @t o
EARSIREC I (R R 1 (LI K

rE e A e e AT e
(B) St e T s s
ﬁiﬁmv@mﬂ%ﬁfﬁﬁ

RECIREC AT
SIS 2|
BIE GBI ATH
I TETCAT AT

(D) e B sraifts % et e wa o g -
IV ¥ 1 BT FHT A |

(B) oTaia ued

Which of the followﬁ;

leave?

(A) Commuted leave during the entire service can’t
be more than 240 days.

(B) Commuted leawmay be granted to an officer for
private affairs. .

(C) Twice the amoéuﬁ% of commuted leave shall be
debited against the half pay leave.

(D) Commuted leavgutilised for an approved course
of study may%[;e approved without medical
certificate.

(E) Question not atfe ?npted

FHAH Y B AT A ?

B2 240 R @ it e @1

B) Mﬁ;ﬁ;ﬁﬁﬁ%ﬁaﬁ%mwwﬁ
TYHRT A w?{‘&ra A e
© it % ARt g e g g gal

® wm&aiﬁm%mwm
, ﬁm@ﬁﬁmm%@
E) mﬂﬁﬂauﬂf

is NOT true about commuted

:%

5‘
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5. Instruction to

Preparation by the Auditor involves the following stepé i
in which order?
1. Information about clients staff.

2. Agreement. w1th chent to ascertain the scope of
Audit.

4.  Ascertain fec

information from the client.

Choose the most priate answer from the options
giver below: '
(A) 1,2,3,4,5 B) 2,3,4,5,1
(C) 3,4,5,1,2 ®) 2,3,1,4,5

(E) Question not a#ﬁhpted
SraT-TE ET Wt dard ¥ frefated @ e

3. @m@ﬁ%m@m@ﬁwq@ﬁfaﬂaﬂt
4. aaﬁaﬁﬁ:rawﬁwwwnml
5. @maﬁaﬁaﬁ%%%mqaw@rqaﬂrwms

e T g Repedi § @ WY IR HT TG Dt
A) 1,2,3,4,5 (B) 2,3,4,5,1
©) 3,4,5,1,2 (D) 2,3,1,4,5

(E) oA uss

If overdraft as per| the pass book is taken as the startmg )
point, the chequé’ Med but not presented, is to be’
in the Bank'Reconciliation statement.

(A) Deducted | : ‘ (B) Added

©) Credited = o (D) Ignored

(E) Question not pted

i eI B ST e § aﬁa@mﬁm

%W&ﬁmﬁ 0

(A) AT ST

[BT.O.
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Arrange the steps in the process of developmg

successful business in correct sequence :

1. Assessing financial strength and viability

2.  Getting funds

3. Developing effective business model and legal
foundation

4. Recognising opportunities, generating ideas and
feasibility analysis

5. Writing business plan; Industry and Competitor
analysis

Choose the correct answer from the options glven

below :

A 1,2,3,4,5 B).2,3,4,5,1

©) 3,4,5,1,2 D) 4,5,3,1,2

(E) Queéstion not attempted '

e ST R BT B R F ST A =

BT TE SPHRH o TEY

1. T gogan ud Sesrian (§Hd) 1 qedic S

2. trdem (Reofa)

3. uw@qu&ﬁr&mw(mm)
[EEIEGTSI

4. grael &Y gEAH HAI, %qumqawm
Tageroor e

5. gEEr el ST, W@Mﬁsﬁw

e g g Rrepedt ¥ & TE S B T BT

(A)i1;2,3,4,5 ®) 2,3,4,5,1
© 3,4,51,2 (D) 4,5,3,1,2
(E) Gliﬁﬁ'ﬁﬂs?f
Match List I with LlSt 1.
List I List IT
a. RCS Rules Chapter-XI - .+1. Maternity leave
, Section-I1 .
b. RCS Rules Chapter-XI  1I. Hospital leave
Section-1V o
¢. RCS Rules Chapter-XI . [II. Privilege leave
Section-VI
d. RCS Rules Chapter-XI IV Study leave
Section-V HUELB 00
@I%wa@llmﬁﬁmaﬁml
%fﬁ I o e zﬁr 11 v
. aredveE PrmmEm, Tgfd STaeTeT
S eEE-XI a0 ,
b, aeEey FroEree I1. STeqare STasHIgT
rErI-X1 gra-1v
¢ SmETy fremTEe 11 fasroférese
- FEE-X1 gVl ‘ ST

d. oo P 7 IV, stemae s
X gr-—V

Choose the correct answer from the options given

below :

A frg T et & & W O @ TE A -

(A) a1, b-1, ¢}, d-IV (B) a-lII, b-11, c-IV; d-I

(C) a-lL b, eIV, d-1I (D) a-L b-II, ¢-L, d-IV

(E) Questlon not attempted / Gﬂﬁf’{ﬁ PEA

) 22TERA1]
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Which of the following is NOT true about leave?

(A) Leave is earned by duty only.

(B) Leave cannot be claimed as right.

(C) Leave Sanctioning authority cannot alter the
nature of leave due.

(D) Leave Sanctxonmg authority cannot revoke leave
due. :

(E) Question not attempted

T % X & e ¥ & B o a7

(A) BE =& ¥ el 2 ¥

- ® g@wqma&m%wﬁw#ﬁﬁmm

RETIE

;(C)@mm@%ﬁwﬁuﬁaﬁﬁ
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©
. (D)

& BT TbaTl
(D) g2 wigasmal kBT 39 BE B 1§ Tl B
gepd

(B) STand 9ed

A service book shall be maintained for each and évery
Govt. servant, except -

(A) Govt. servant appointed on temporary basis for a
fixed period

Class-1V servants

Govt. servants from All India Services
Policeman of the rank not higher than that of Head
constable

Question not attempted

ﬁmmmﬁmﬁ%m@
émgﬁamr@“rwwﬁl -
(A) SRl enee U uss ffyea erafy % foe e
BT BHATA
(B) IV it seardy
(C) iaw AT qaT & GBI HHaT
(D) asgmasﬁa‘r%gmﬁm%aﬁmaal

(B) oTaid ued

Identify the criterion which will help to know the fiscal
condition of an Economy for the current financial year
(A) Revenue Deficit

(B) Fiscal Deficit

(C) Revenue Expenditure

(D) Capital Expenditure

(E) Question not attempted

ey farir ol fopelt areferaree ot Troreh e Refd &t

®)

(®)

 ayi g Frefeiaa 5 & @i ares e B 7

(A) TrTE-ER (B) TrsThdrT AT
(C) TSE—=a (D) YsirTa =g
(B) A ued
[PT.O.

138  Match List Lwith List II.
List 1 List I
a. Training 1. Placing the individual in
different jobs at periodic
interval to enable him to acquire
knowledge of many jobs.

b. Development II. Involves development of an

v individual socially,

o mtellec,tually and physically

. " 17" aiming at general development.
c. Education III. Act of increasing the knowledge

© 71" and skill of an employee doing
a particular job. ,

-d. Job Rotation  IV. Has a substantial influence in
changing the capacity of an

.individual to perform better
and increasing the potential for

future assignments.

AT 1% | g4 1L &1 frem sif)
TN il
a. o L Wwﬁaﬁmmﬁﬁﬁm
| 0 iRa ¥ @ e S g saftes
ST o fate= e & @
b. fera 1. peit ot o aran fereerer &
TZYT ° ITF W, g wd
e faere &1 aitafaa
V BTl E
c. fymm 11 frelr fafdre art % o et
FHHAT &b T T Iy §
ghg HE &1 BRI
d. B SR 1V 6 R st % ofT sreet wr
frromres @t erran F fadw ofik
THE WA Bl o duredar § g
H B TE e e ¥
Choose the correct answer from the options given
below :
vﬁ%ﬁqwﬁ%ﬁﬁ%aﬁwmw%ﬁ
(A) a-IL b-TIL c-IV, &1 (B) a-1IL, b-TV, c-II, d-T
(©) al, b-II c-III d-IV (D) a-IV, b-1, c-11, d-1II
(E) Question not attempted / FTAN W9 '
) 22TERA1] 29
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List 1 List 1

a. Internal Control - I. Quality control ‘

b. Internal Check II. Independent appraisal
to review the operations
and records.

Work of one staff is
autornatically checked

c. Internal Audit 1I1.

by another

d. Administrative IV. Whole system to

Control safeguard assets,
maintain accuracy and
. reliability.
AT 1% T g 1 ot e i)
TN g
a. oA s 1L Iererr-frEe
b. Siai® Team 1. vareHl oo sl o wan
c. orafed d@r, L FRe wETd @ B gEt F
T BT @ & sita v s ¥
d. wemafE 1v. ufteafeE % e,
[REEL aRyaar wd favaaaa
AR T TG TOT JoTIe

Choose the correct answer from the options given
below:

Y frg g ferped & @ @y SO @1 wEA B
(A) a1V, b-IIT; ¢-1I, d-I (B) a-I, b-11, ¢c-I, d-IV
(©) a-, b-1, c-111, dQIV (D) a-l, b-II, c-I1, d-1V
(E) Question npt attempted / Gﬁﬁﬁﬁ e

After the dlscovery of oil and natural gas in western
Rajasthan, the state has become the __ highest
producer of crude oil after Bombay ngh.

(A) Fifth (B) Fourth
(C) Third (D) Second
(E) Question not attempted

iyl <ot ¥ wed e qe whe e @ @i

9T, %ma@g@%mwﬁ%ﬁm ___ wErE™
| IWIEE I TR
(A) dfgat . (B) @
(C) (D) g@x
(B) orafa ued
[PT.O.



141

142

Arrange the process of demonetisation in sequence :-

1. New initiative to demonetize.

2. New currency notes ¥ 500 and ¥ 2000 launched.

3. People were allowed to deposit old ¥ 500 and
¥ 1000 notes.

4. Menace of Black mgn@y and circulation of fake
currency.

5. T500and T 1000 ar@ no legal tenders.

Choose the correct: answer from the optrons given

below:

(A) 5-2-1-4-3 (B) 4-1-5-2-3

(C) 1-3-2-5-4 D) 3-2-5-4-1

(E) Question not attempted

frefRaa Rrgdietor % % @1 99 B

1. forgsror s % fag =1 yamE)

2. %500 X 2000 % TS T % Sl Y ATTH HEA|

3. a?nﬁaa‘rgrﬁ?sooam? 1000 % e @l
HTE B @i & TE |

4. T U QT b GAT, P A B Hhe |

5. % 5007 T 1000 % AIE 3|

R R e Rredt & & WY TR 1 A BRI ¢

(A) 5-2-1-4-3 . (B) 4-1-5-2-3
(C) 1-3-2-5-4 (D) 3-2-5-4-1
(E) rgar ued N

Identify the correct order of the verification process of
physical examination of the Assets.
1. Verification of exrstence of Assets on the date of
Balance Sheet. )
2. Enquiry into proper value of Asset.
3. Verification that Assets were acquired for the
business.
4. Examination of ownershrp and title of Assets.
5.  Assurance that Assets.are free from charges.
Choose the correct answer from the options given
below:
A) 1,2,3,4,5 (B) ,4,3,2,5
©) 1,3,4,5,2 (D) 1,5,4,2,3
(E) Question not attempted =
afieuft & e ader (STe) % S &1 wiear &
& S Y gEAT | 4k
1. ge-oo s @ faftr o afveuEt & T
TR B EACEAl ¢
2. ufcgufa & sfaa 7@ %ﬁ TN H St
3. ufEuRmEl @ =R § fg et ey o @
GRAEER
4. ufveuaar & wnfre o sfre a1 e
5. 39 T &1 snenaH fep ufEataal wHR ¥ gad ¥
%mmﬁmﬁ%mwwwmm

El

A) 1,2,3,4,5 “(B) 1,4,3,2,5
(©) 1,3,4,5,2 D) 1,5,4,2,3
(B) Srgar ued .

) 22TERA1]
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Who is eligible for study leave?

(A) A Govt. servant, who has completed 20 years of
service.

(B) A temporary Govt. servant who has completed 3
years of continuous service.

(C) A Govt. servant working in the Agriculture
Department to pursue master degree from IARI,
PUSA

D) A pohce officer who wants to pursue course of
study/investigation in-criminal laws.

(E) Question not attempted

FemT=-gal (araeryn) & faw B urr ¥ ?

(A) TEETEHYEE, 20

(B) %W@WWWMWW%

TR BT
(C)a’s:zrmﬁ@mﬁaﬁ &rwﬁmﬁrﬁ%aﬂ‘{
arcr:?rwwaewcnf%r TR OTTS. T, SITL.3ME.,
(D) =% SETIA/
W(W)Wﬁmgﬂ?m%l
(B) ST 99

As per the Rajasthan Edonomrc Survey (2022-23),
sector contributes to the highest growth.

. (A) Agricuitural Sector (B) Animal Husbandry Sector

(C) Industrial Sector (D) Service Sector

(E) Question not attempted .

TISTET e 2022-23 % STET TeaaH ghg
A %%gﬁ z%? waifies aveH W R ? o

&) (B) 9gIuTe

(C) FrEnfres & (D) e &

(B) STan 99w

Identify the correct order of the steps involved in
operationalising cut-off precedure.
1. Movement of goods:in and out of closing date
should be carefully examined.
2. Goods sold but not delivered should be excluded.
3. Stock relating to outsiders and held on their behalf
be excluded from stock,
4. Stock owned by the organization wherever situated
should be included in closing stock.
5. Goods bought but not received should be included
in stock in transit.
Choose the correct answer from the options given
below:
(A 1,2,3,4,5 (B) 2,3,4,5, 1
(C) 3,4,1,2,5 (D) 4,5,1,2,3
(E) Question not attempted
HE—ITh gt B % g, Frefated
TN T Tl HH @B FTF B
1. WW%@@WQ&HW@@%WW
éﬁf{ &9 BT BN |
2. FrTTgfer TRgd Wi STerT TEAT AR |
3. WW@W@WW&% wies §
ITOTT T Ayl
4. w9 N R Fen % et A ®ie B
ar%aﬂ wie 7 ynfere feman s ARG
5. 12»% mﬁa@aﬁ@rmmﬁ BHESH

:ﬁ%ﬁfq ﬁwﬁﬁ@m’éwmwﬁﬁq
(B) 2,3,4,5,1
(D) 4.5.1.2.3

N
>
N’
[
u‘*’
&
w

© 3, ,1,2,5

(B) eraid 99
[ ET.O.

146 A]Spointment of Auditor in Government company
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should be held as the order given below, except :

1. The first Auditor shall be appointed by CAG
within 60 days from the date of incorporation.

2. Ifnot, Board of Directors shall appoint an aunditor
within next 30 days.

3. If not by Board of Directors members shall
appoint an Auditor within 60 days of Extra
Ordinary General Meeting.

4. Subsequent Auditors are appointed by CAG within
60 days from the commencement of Financial
year.

Choose the most appropriate answer from the options
given below:

(A) 1 and 2 only (B) 2and 3 only

(C) 1and3 only (D) land4 only

(E) Question not attempted

TXHTY U= o dEr—udees o Frgie o sifafe

e R 19 w9 % STEIT BT T ?

1. ww erar-aders o gl @ s, g e

o fafr 60 ) & ofiaT B s

2. af T wE & uran A 9 o srEed (Rrye—
He®) ST 30 f& & e crer-—ulEes & g
BT

3. gfg g oile SrEReed & g oY Uar el &y Ay
FEEET ST TR ¥ & 60 TG & Wie
AET-Tlrers B Frghr S

4. foim ad % Us ¥ 60 &Y % N fLos. g
! wET-aErst B Py @ e ¥

1 fg g et & & R SR ST B TG BT

(A) e 1302 (B) e 2 87X 3 ‘

(C) e 1373 (D) e 134

(B) srgar 997

Audit conducted at regular or irregular interval
throughout the year is called:

(A) Interim Audit (B) Continuous Audit

(C) Terminal Audit (D) Statutory Audit

(E) Question not attempted

R T X Fraftra sreran sl siare ox e s
ATAT WG TEE0T T hEerell & 7

(A) Siafm der adae  (B) @ad a@r ade

(C) et wrar wlierer (D) wifafmes s wder
(E) Srgaiva wes ‘
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148 The term deputation covers only appointments made
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by -
(A) Final absorpnon (B) Direct recrultment
(C) Temporary.basis (D) Permanent transfer

(E) Question not attempted
_ EOW g %fgﬁam

yfatrgiea & @8 daw

(A) st emAw= (Final absorption) -
(B) Hreil s

(C) Frearl e

(D) T MY

(B) ergaivd uss

Which of the following statement is NOT true?

(A) No government servant may be transferred to
foreign services against his will.

(B) A Govt. servant may be transferred to forergn
service while on leave.

(C) The transfer of a temporary Govt. servant to
foreign services is permissible.

(D) The government servant transferred to foreign
services may get promotron in foreign services
department.

(E) Question not attempted

Frfaiea & & B HUF 9 T8 8 7

(A) Tl ol FeapTdl T ol e 3381 % faog s
Tarati ¥ wraia &l e s Twarn

(B) Tt weepT{l Terh 1 WE b S fadier W %
T Tamrata fman ST gedt 2| :

(©) U s wreTd e T Rrder et % Ry
T ST T

(D) et Sanstl & wraafid wvesr a9 ol gar=ita
feder Ga favm o &) wadl B

(E) Srgafe@ 97

‘Co-ordination’ refers to which of the following?

(A) Identifying objective

(B) Delegation of authority and fixing responsrblhty

(C) Determination of standards for measuring work
performance ‘ ‘

(D) The harmonious blending of activities of different
departments for attainment of goals

(E) Question not attempted

Frrafatea & 9w’ fras fide s g ?

(A) Txedl DI TEEH BT

(B) WiTH&R &1 TS Td Saraee! (mrﬁm)
REEIS

(C) HE-Trwres & wraw ¥ e @i Fraf

(D) et &t i % ferg, fafver fervm & Rpemesemat
%1 ATyl aitmser (Fa—fem)

(E) i usd

B E

[ PT.O.



